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Storms' are a kind of severe weather that
occurs in all climates. They build where warm
fronts of low pressure’ and cold fronts of high
pressure are forced together.

‘Thunderstorms are the most common’ storms.

< tomada hiing 8 house

They create thunder and lightning*. A warm

front rises through a cold front and makes a

tall cloud. Warm air and cool air swirl’ together

inside the cloud and create static electricity’.
Suddenly, electricity shoots out of the cloud as
€ vocabuary

a bolt of lightning. It is so powerful that it makes.
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a loud crash of thunder. Sometimes, a severe
thunderstorm causes tornadoes’. They start when

a sudden drop in air pressure creates a vortex.
Tornadoes can form whenever a warm front meets
a cold front. But so many tomadoes touch down
in the Midwest which is called Tornado Alley.

Hurricanes are the strongest and most
dangerous storms. They are caused by a warm
low pressure system that evaporates water from
oceans. In the United States, hurricanes are given
names, and they vary in strength® from category
one to five. The strongest hurricane on record in
the United States was Camle. She was a category
5 storm that blew winds over 300 km/h and
destroyed entire cities along the Gulf of Mexico.
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Comprehension Checkup

Choose the best answer.

What s this story mainly about?
a. how the weather is formed

b. various kinds of severe weather

<. some advantages of severe weather
d. the most severe weather in the world

2 When warm and cool air swirl together inside the cloud, what is
created?
a rain b. thunder

<. high pressure d. static electricity

3 Tornadoes form when .
2. a cloud has static electricity b, electricity shoots out of the cloud
.. awarm front meets a cold front d. warm air and cool air swirl together

4 Hurricanes
category 5.
a. blow wind
c. evaporate water

from a weak category 1 to a strong

b. touch ground
d. vary in strength

What s the area that many tornadoes hit in the American Midwest

b. Camile

c. Tornado Alley d. the Guif of Mexico.

What is true about severe weather?

a. Tornadoes create thunder and lightning,

b. Hurricanes make a loud crash of thunder.

c. Thunderstorms are the most dangerous storms.
d. The strongest hurricane on record was Camile.

Vocabulary Focus

) Match the words with their correct definitions.

the weight of the air in the Earth's

Semmn oo Deveso
2oty b e
3 swirl . « ¢ physical energy or intensity

4 strength - + d tomoveincircles

5 lightning - - e widely known or usual

¢ pmowe -+ oy mace b oot a

electric charge

B Choose the correct words to fill in the blanks.

electricity common tornado ~ strength lightning ~ swirl

‘Spinning a bottle in a circular motion can make a mi

When there is . thunder always follows.
We cannot recharge cell phones without

A hurricane gains by using warm water as fuel.
Extreme weather of the earth is becoming more

and d
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Grammar Focus

Organize & Summary >

) Check the correct sentences.

1 a5t kind of that occur in all climate

D Fill out the organizer with the information you learned in the story.

= Storms are a ki
occurs in

of severe weather that
ates.

b.Storms are a kind of severe weather that occurs in all climates.

2 . They start when a sudden drop in air pressure creates a vortex.
b. They start that a sudden drop in air pressure creates a vortex. i el
Thunderstorms. Tomadoos
3 a.Tornadoes can form whatever a warm front meets a cold front.

b. Tornadoes can form whenever a warm front meets a cold front
Thunderstorms are the

4 .50 many tornadoes touch down in the Midwest which is called most common storms.

Tornado Aley. They can create static
b.S0 many tornadoes touch down in the Midwest when is called electricity. It also
Tornado Aley. makes a loud crash of

thunder.

a. The strongest hurricane on record in the United States were Camile.
b.The strongest hurricane on record in the United States was Camile.

D Fillin the blanks with the correct words to summarize the story.

climates pressure vortex tornadoes ~electricity ~ dangerous

B Choose the correct words to complete the sentences. Storms are one of the severe weather that occurs in all .
Thunderstorms are the most common storms. They can create static

- It also makes a loud crash of thunder. Toradoes start

when a sudden drop in i pressure creates a - Many
touch down in the Midwest which is called Tornado Alley.

Hurricanes are the strongest and most storms. They are
caused by a wam low system that evaporates water from

1 Awarm front rises through a cold front and ( make / makes ) a tall cloud.
2 They start (what / when ) a sudden drop in air pressure creates a vortex.

3 Itis (so/ very) powerful that it makes a loud crash of thunder.

4 Hurri and (. ! )
storms.
oceans.

5 She was a category 5 storm that ( blew / biows ) winds over 300 km/h.

D Matchthe words withthei corrct defintions. 1 Check the correct words to complte the sentences. 01 severe Weather
1 pressure 1o make high-piched sounds 1 the sivongest end more dangerous skomes.
. Amosphers b, Horcanes <. Tomado o, Power
storm © =8
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vortex © 2880l
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Organize & Summary

[ E20iM B2 HE2ES 025101 CHS ES 2HSHMIR.
[Detail] Tornadoes They start when a sudden
drop in air pressure creates a vortex. Many
tornadoes touch down in the Midwest which is
called Tornado Alley.

[Detail] Hurricane Hurricanes are the strongest
and most dangerous storms. They are caused
by a warm low pressure system that evaporates
water from oceans.
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Organize & Summary
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[Effect2] Winter is the coldest of the four

seasons.

[Effect4] Earth receives the most sunrays in
summer,

[Effect5] Everyone is now ready for winter,
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Organize & Summary
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[Body2] Coral poyps produce a substance that
turns into hard skeletons. The hard skeletons fill
up the reefs over time.

[Body3] They provide food and shelter for
thousands of sea creatures. They provide good
habitats for the tiny fish and shrimp.
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Science | UNIT 4

22544 | B YAS S5I517ILH RIS OISE 3t ol ARRELICE O RS2 AX|0] %02 27| 5t
X2 DAY | B |cr JR{L 20| Bt 7K ER5 US ML AIB0| Bl S Ml olLCE TS BIS
Of 7| SIaHM 2t AI2 20| O|20{X{0 BILICE J2{Lt He B AAR 422 8 4 gLt ZEE0)
PSS CoiELICL 2SS 01502 By UEst B W2 TESS SN, TES2 024 UEs 428
OHAI7| $1sH 2 S0l LICE ZES0| B S0l 242 o 7127} 5 S0 YetgaLt Rris oM 27
£ Jl2Lict Z550] 0 £ H £O2 HOICHIPA R7IRE MR T2 Ro| 27129t N2 Aoln 4

0] ELct. 20| +Y=IH 22| MHoM MZ2 Moto| YL SF7t 0| MS2 Soil A = MS2 M22 A
=2 K2t ELICh ot MS2 HIZ0| 2 T30 FHez 2014 27| M AIS2 X127 | SiLch AHZ2 M7t 2t
S0 E 230 =2 =X|2t 22| M2 0, A0} £= Z=2 AL o JS2 Alkkg 20| ok o

£ AS2 tiol 0t Auft 2edo| ok

EHO1sHA | 1.53I5ICH : v. SR8t #AL AR, §7t S fI610 SE5I7LE E72 LS SiCt 2.9F 1 n. 2O S RIE,
O = 2Aeisks A 3. 4F3I0 v ZIRE B7M AP 4.28 1 n. 22 01F= Sf11 SIA7(LE A0| = B

= 5.9 n. EXE XREA SE + U= TAHL 7IH7H oK 6. LH”:EIEP 22| HSstAL SMAIZICH 7.0

n X9 URFO=Z M7t F¥=l= X 8.829 1 a UUXH F0| H2

AMEISHA | Honey bee collects flower nectar. 20| 22| 22 ZSLICE pollen sac of a lily o] 272
ML

e oLl = eR e 5. 20| 58 0j 2o| Mol 22 o] LojLiLie?  [c]

a. B7122 w2t
hst gate g2 AR, b. HIZIS SaiM WS siL|ct
1. 222 32 2000 Tt 201727 [c] c. T}, 70} £= Z22 XRLCH
a. CHSH 2 d. M2 22 MAGHLE7| QIsHM AAR 48 X2S 8t
b. CIU3t Z20| 48 &8 Lick
c. WZ MAlH L§7| S5 20| K=
=< - = 6. 20| T3t ARO| Ol 22 2017127 [d]
d. QIR 2|1 O{EA| ARS0| 2S TR 5=} o
a. ZS2 A2 E51517| s ALLELICH
2. 20| AAZ £E AHZE & 4 ¢lg uf 20| ZIIRE b. 82 Z2 AAZ 25 XES 5t 4 giELCt
HEa|LIQ? [o] Moto| BHS0{E! 220 B FALICH
a. Cj2 25 b. Z5S d. 22 oto2 iyjL} RIZ ORA|S ARISS SiaLICH
c. =0t H| d. Al2s
3. O{CIoIM MES Mot M7|LER? [c] Vocabulary Focus
a. 2¢ b. H2| 7 Chojof| 2Tt ojn|= &0} HZSIMIQ
= 1_010" = e —Iula = I' |_E°|'k“a-l-
c. Mgt d. &

2(2) MBI SRt [d]

a0 - TNl SBI5ICH/ o / A5HCH/
. ol Hemalch / M / 2180| B

= =71
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[celebrate]
2, M2 M MSH0| M7= 2L [ovary]
3. OPY MESE £ & S0 A8, 24, =752 ALEsl
ZELct [medicine]
4. olzfst AES2 T RER A #e2|E VX1
&Lt [fleshy]

5. [IFE 252 AAZ aFe £ glaL
[pollinate]

6. O 2552 0| £ X £OZ Hojtt|HM ZI/IRE [

2ok [spread]

1. 20| 5t= 71 S8 U2 ME ditsk= LUt [b]
I.

ol L] 2lsiM= 2t AZ2 +=20] 0|F0H

Of gLct, [a]
3. ZES2 IS8 ES 07| 2ol £ 2ol &Lt [al
4. T2 £ 27IRQF MZ 40| £Fo| ok [a]
5. 2550| 0| 2 X 222 HO[HLHM £7I12E HEY
Lct. [b]

1. Z0| £z Zo| Mol AHZ2 MOt0] AZiLCt
[After]

2. LR RoiM L= 7R YU [found]
=]

QRI7IE OtEE7 stz ol At
SELCL [celebrate]
4. S5710| NS2 Zoil M7 =H ME2 M22 AE2 Xt
Ef71| Fuct, [when]
5. Z2 FX|gh £o| N2 niY, Auf E= ZEE XL

ch. [but]

Organize & Summary

[ E=20iM 2 HEE 035101 LIS EE 2HAGIMI.
[Seed] After a flower is pollinated, new seeds

form in its ovary. And these seeds become new

plants when farmers plant them in the ground.

[Fruits] When a flower dies, its ovary develops
into a fruit, nut, or grain. Some are fleshy fruits
such as apples. Others are hard, dry nuts or

grains of wheat.

[+2A8] Z5S0] 0| £ X £22 HOILHM ZII1RE
MEZLICH M2 CHE 22| Z7127F M2 410|1 27o] ElU
ct.

[MSH] 20| HEH 20| WM MZ=2 Mt0| MZLICE

271 0] ME2 ol 2 =H MS2 M22 AE2 X2

Fuck,

[mtel] 20| ZOB 2| MY TR, 2, = TB2 XY
LIck. Ofi 2SS AfZi*f TS0| ELICL T2 XSS et
512 012 24Tt Ro] FLct,

(5] Y toj= wizkg 3i9 22 Qo

produce M&SITH pollinated £25t=  insects
ZZE fertilizes £™AI7|C} plant A1 hard BHotst
2 M22 AIS0| &= ME ML S ahSo| Lh7|
LleiM= 2t 22 20| 0|F0{Xof BiLICH ZFS0| 0| 2
N £O=2 HOCL|HA 27125 LT M2 CIE £9
27127+ M2 Aol £30| ElLich 20| =M 2ol MY
oM M22 Moto] WULICEL 27t 0] MSS ol 2| =
M MEE M2 AZE X2t ZUch 20| ZoH £ M
B2 ml A} = ZEE XIZLCH 015 & o RS2 A

iR 20| ELITH T2 2SS Tkl 012 A 2

=2 =

e

0| Zuct,
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OfCiLIZ
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Af2hs ol 28 23 2.(E2) £ :n. R0 U=

ZOFRILIC Ligh2 ol ZotciZ

o 27 OFHRE0l= ESA0] UBLIC. Lt

FofeiLct,
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‘n. 21 20| PR =

27 sict

AZI5HA | a twelve-step butterfly metamorphosis LH|2| 125 BHEf 1P

Comprehension Checkup

Th gmte

. E22 5@ 20 Bt
a. Ofiaot 9i%

. Sl siel

. Ljuio} Lol £7

. LjtIo} Ligo| Bofsts 2t

g 1242,
2A71R?

o O T

. LiH12] 7l off M| BteigtrlR?
a. ¥ R22 HopL7| flshA
b. TtE SEZFH 87| ff61M
c. CIE LHHIE R=3617] 2laiM
d. =R FUZES &7| 2leiM

=
=

. Lo L2

fLIIO

re
ro
Mo nE

i

12

[c]

[c]

27| flaiA F0| H25HR7?

[d]

(07 Xtz
[d]

c. JYE d. 2

5. IiFE e/t e SE2RE 8L ToFs A2
ENte? [a]
a. 2sM b. 2
c. 24 d. HEf

6. LHH|Q Lol 2ot AFMQI 232 2oeITIR? [d]
a. 2ol &7] i 2'LS oS LIk
b. ¥ Lon offHzl= /i0|E HELICE
c. 21 2ol L2 =2 okdLICE
d. LiH|2H LIRS 01 Hisl 20|H 22 Haloz Hok

22 gL

Vocabulary Focus

pd
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Etojol| 22 oniE
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ot AZSHMIL.

4. 5. 6.

o2 HoIE S2t
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(£2) & / o / BEst
ZdI7| / mtstct / 7=t

/




1. OfHall= 23800M 357t XILEH Lig[7h ElLct,
[caterpillar]

2. U2 Mz WESHHO| U= oSS HE + UE

Lick [spikes]
3. ZoIM 371z E2% 2 U222 BE f=dle dl R8¢
Lick [nectar]

4. 2= Zat LIRE XfHistr| o 201 HREct
[grow]

5. HEl= offHe|Ql S0 A oM Hotk= A LT
[shell]
6. LH| & 027t CIE LSS RS E7HE TEO|
o&LICk [attract]

o= 20l BEAIBIML.

1. Lo L] 25 X2 U2 EHO{LEA] o2 2 XIgHCh

[b]
2. LjHlo| ilie BE O LIS 985h| s chijee
M2 @ [b]

3. Js2 £ U2 Saff Bolzks &2 omduich [al

=
4. Liot Lo XjolHE e o~ AUR? [b]
5. o= 747t X2t S0 HEfLch [a]

o
1. OIS0 MR [IE SSERE AAZ £2E TIFL|CL
[hide]

helpt= 252 2012 10 SHA TS AR sl

2. L2 L= Ol =25 27| 2ish 24S OIZEILICY. [fly]
3. 0[2{3 HIE HElztn BELIC [called]
4. L2} L2 OFF Hs 2 RiLct [similar]
5. 20 LA LU Ligo] |71 7 Hle& LiSL

ct. [breaks]

Z0{0]| or7} QIOIM THA0|ZE Th SAF M

Organize & Summary

ESZ0M B2 HEE 0|2510] LIS £5 2MJsIMI.
[Butterflies Differences] Butterflies’ wings
are usually colorful in order to attract other
butterflies. The bottoms of their wings are

camouflage colors. Butterflies like to fly during

the day.

[Moths Differences] Moths are usually brown,
gray, or white. Moths like to fly at night. Moths
use the moonlight to help them fly.

[HIE =] Lid|et L2 JURS 27| fleh 21t 22 0t
LIck Ligiat L] 25 X2 U2 EHO{LEA OfERlE RiEL
Ch 0= oiE2l= XI7| & FHo| HHE HRS TSUCh Y
A QtoflAf olfHell= XIS HFAIZILICE 2240 LA LiH|LE
Lio| A7 1S 7 o= LEgLCh

[LiH] CHEH] L] 27il= 2E CHE LHIE f5617| 2fh
Chli= A ELICH 27 OBiRER0l= 2SM0] USLICE
L= % S2t otttz S0k,

[Lh CHRR] LRSS WIS 2 B i SlMRILICE LS

H
(=]

ol ZoittZ SOttt L2 L= o] =22 27| 2/

U2 CHO|Z BIZES AHS) 2E2S QofsiMIR.

nectar (22)) & eggs L& caterpillars OiE2E
colorful k22 camouflage §I& brown ZAt9)

Lidlet L2 RS 7| 2l Eat =2 okyUch Lt
LiH| 25 22 L2 EHO{LIA] o2 2 XIZLICE 0| ofEa|
£ A| S gMs HHE RS TEUCh ZE oM of
Hefli= LiH|L Lo 2 HEILITE 210 LiA Lib[LE LI
ZH7IE 7 o2 LEZUIC) LH|Q] H7i= 28 CHE L]
27| Yol Ltz 2 A= EuLich 274 OiRRol=

| ASHICE L= % SO o2 SOoFLIch U

oL =

i

1=
S
30

A, B S SMRILIC LI of HoleiLiZ

o O

M(I}%l ro  fob
o H
2 om
m\l
1=
o
=
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Lok L2 LhE ol =22 271 2lal 2E o188
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Science | UNIT 6

22604 | R2l= Yok=0 Hiis B2 HES = + USUCH Y= ME2 Eat AHILCH "2 JtATEl= A
Chet 2M o[zt 22l= OUXIE AaeiLIC YR HE2 i 22l oM A0 82 A 2L ct o
L2 E2 M2t Z7k2 L2t T2(71 71E JI2 20| 52 WZHRILICE Ho| Wr|= HiiLt BE 2S MM
SH=Lbof S USLICEL EMR HAE O HA| LELCh XI70M o 77t2 9Y4E L2|0Al= O $HAl Zut
= A 2YLICE EiL2 20 Uz A B S SILIILICE B MZ2 LLEHAMRILICE Ol= EHY0| AR &
H g2 eirhs TLCH J2Lt EfYe| B4 2= 2F MM 13,000,000% O MYULICH EfUAS 30| THE &
St H|wehEH 22 HQL|CH J2{Lt U2 XL 20 FLCH il ot 30 /U= ‘='7<1I°"-IEP Ay d
ZFHE o= 3 SXULIC Hoks Ha| 842 AAZ Ug IHX] RELCH M2 Efto=E 2 HIALSH
0 &S HULICE X+ = EY FHE == M 5 otLtL|ch
EHOlsHA | 1.8 1 n. 01 22 S22 2% 2,579 1o, IX|E AX|= 42 F7|, Y, E= L0 B 3 4LICH: v ¥
2 2ISICE 4.~Q1 2 2Tt v, ~QISEICE ~XY 2O[C 5.2%F 1n. 2E Y, #Y, J2| CiE HE0| EAfsh= |
37t 6.5Y 1 n. O 22| 7k20| 7.H|WSICH: v, FAR™Dt RIOI-E ZALGIY 7|=5tCh 8.8 1 n, E7{LE BFEL 4 QU
X|2H Mot QIX| 42 A
MZI5HA | Big Dipper 85214
. Hi = x|&o| ol
Comprehension Checkup c. JLHE XFE0I 201M
d. EiYo=REH 2F Us HiARHA
74 agre g mane
5. Efigso] AZ0| L= S B0l =
1. 222 x2 nojo| st 3ete? [a] o
=g
a. £70] i ClEt A e !
a. OFF 2| 2%l0|7 Uct
b. B X729 2
. b. X|70M HOIX QUCH
c. ot Yol XjO|H
c. H2M Z7t HEa wir}
d. EfYat X2 2| 3
. d. X2t o Mssitt
2. 2R E2 o 22 TAE 2o|LR? [a]
TEemm e 6. 0| x|70f 7}77@1—% Of o wAsilR?  [al
a. 0% Ea2| oA U7 | 2o
a. R2loAlz o HAl k= WM 2Lt
b. 22 LHX| & 57| 20
el o E¢ glaLict
c. 50| =& =7| W20l o
] c. R2|= Ho| FACE MHEOREX| HiE 4= USLICE
d. O/2Hofl ciet =F0|7| o
d. TECHH oS ELCk
3. ol Y= o) HlLR? [d]
a. 0| 0Lt 2K Vocabulary Focus
b. 0] 2%O= PISO{HEx|
c. H0| ¢ Hofl LojLt Ha| 0|S5H=R| Z} Chojof| 252 o|ojS 3ot HESIMIR.
d. 50| Hopt 2 Ye MMl LH=X] 1 2.d 8. 4.7 5.b 6.
4, M2 off Ho| LILIR? [d] U2 HHOIE Szt HIZkS ML,
a. 22 Lk
S U S2t9| / WLt/ LIELICH / 23 / 34, 7k20| / ]Sttt
b, AAR HILIA
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7 ARILIC, [medium]

. 2301 ol 2 JHQIX| Ok AR SELICE [universe]
3. el dolsoll ol Yite XS 2 + U= WIS 7|
gLt [shine]

4. XVt He| Qo™ of of 01 20|LR?  [appear]
5. SME2 nHoA X2E STotn #yel 37|12 HlwEt
Lick [compare]

6. EfY2 EfLAIS] S0l Q= HALICE [center]

ot

1. 82 JIA7t Efl= Aigt 220 Yozt E2l= oUXIE
Atk [b]
burning gasE 7t2|7|= 24 A UEAF which A2

2, XH= B FHE T W S stlLC [a]
the planetsg 7t2|7|= 2 ZAHEAL that A

3. IR HULE O 87 WLch [a]
the + H|Z8, the + Hlug : © ~5lH 42 ¢ -
oict

4. X70IM o 712 HYeE L2liidle o S Yike
WX 2L [b]

5. Ho| Y= Aot B2 WS MAMstLiol EHai UL
ct. [b]

1. 329 S4 2= 4M] 13,000,000 0L,

[more]

2, M2 H FHS o= F SHYLICL [that]
a large objects 712|71= 2 HAUEA} that ¢

3. J742 X7t EM SLct [much]

Hl 2 biggerg dZxot= FA much A
4. Eii= 22| #Y2 AAZ Y2 K| REILCE [gives]
5. 722 1 Y2 Qo{Xl= & tHRES HHARHLICE

[reflects]

Organize & Summary

[ E20M Hi2 HE2E 0185101 LIS EE 245IMI2.

[Detail] Sun The sun is one of stars in the

universe, lts color is yellow. The temperature
at its center is more than 13 million degrees
Celsius. The sun is smaller than other stars in
universe, but much bigger than Earth,

[Detail] Planets A planet is a large object
that moves around a star. A planet shines only
because of light reflected from the sun. Earth is
one of the planets that move around the sun.
[FHl] Ra2k= Lol X2 g5
[MF AR E

E2 7IAT}EIH 2E U= 7oiet FYULICH B2 EAESE
S0 Wi,

[ AR Efes

EfQS S0 QU= ¥ 5 SiLtILICE Eioe] M ekl
L, 3N 2== 2F 44 13000,000= O|AILICE EfLS 2
Z0| CIE ESHk= AX|2, XIFECh= W FLCt
(M= ARRE] &Y

A2 B ?—I% E= 7Aoigt SHYLICH WY Eiezs
B 2= S HhAlsio] S d LICh = B FHS

= 84 3 SLiYU

oOI'-

g452 =+ UAsUCh

(5] ore clof2 HIZHS A9 222 2045th2.
burning Ef21 = shines YLiCt temperature
2& object A reflected BIAFE move S%0|Ct

E2 JIATLEH HE L= Hoist YU E2 EAErE
Sl ELICH B2 200 QU= B B ST B
M2 CRPMRILICE 42l 2= 2F 4M 13,000,000%= 0l
YUt EfY2 52| CHE HSECHE ZX|2, XFEOE £

ot
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S25A | BHA0| Of A
2B sl 2Mo| 2
LIt 3 Holl Z™ 201X 8
o= ojanletn Eals 23 etMoz o|2x

ro2 LojHLICE, 0740] HIZ 40|H 3HA0]
o] 2&i= M| 700=01M 1,200=00 OIS 4 U&
P EEg7LF 32 34AF R0l X|RI0] YO LX| &
= UL MEE UzHATIRL FHLICIE £
ILICE SHH2 T2 ARESOl 02 &

o
SegLIch a2(1 spie] Zefut &t

E|D‘| A
zl 22t0] Al

p)

mS

I_

|_

7tA7

El $-J°u_|q, 0l

[y = |

ol-l

Al
Al

rr

n. 2RMOIM L= O

ol 5, EHISIC}: v,

ML=

. 20| EHH EH=

AFEISHA | the formation of a volcano 3fAt

pipe & MO|Z, layers &, sill

Comprehension Checkup

ThE Y2 B2 1EMR
1. 232 F2 FA0f &et 2717 [d]
a. MUYS GIE5HE A b. St ZES ofsiE A
c. SHO| AEML A d. sHto| FAat st
2. X7 2H offofl U= BaiE YMS 2ot F2Lt
27 [d]
a. 22| D2|(SEfE sHih)
b. PR
c. 3pAt
d. ofaat
3. SaliE LA ofC|ollA M7 |Lte? [b]
a. 29| 12| b. X|7£e| HE
c. 3t d. Hioh g2 R
4. SU0| 2E5(0] ZO{E mOiC A2
[c]
CHA PEREELC b, A mhRiELC
c. B8 o AELICH d. B geiELct

16

2t BFUCE %%OI $§EI01 201"' mopct sk HE

gLt = if’\
MES THHHE 4~

A2 U & 2.2C0:

=, El, vent HiE+, lava flow

2E 252 0 3Hio] =
o &
2X0|7 YELICH X7 EH of2HEE
%’S!OIE. H0| Lestod Ot20kE X|2t b

Ch, 82 0 =B, 8

X|Frof

Lot sH2
0| Aotz HI
Yoz HiELICt

o] °e”'7|7f)\f%
ol= y|2

st E
M L

[I°_

v, HEB{IL o D St 3,20 v, Blo=
S5 Zojct 6.X! :n

===
8.5 in X9 #H 7t

&M, chamber X[5t 82, magma Ota0t, rock layers &M=,

2o0t=
=

cloud 75, ash 3y

5. &3pte = MSE HoELCH [a]
a. 2 ZWsix| 220t
b. M2 OIEX|E 2EC
c. O|UXIE 2HEX|= 220t
d. 7|gE BEX|E RECt
6. ST SHAITHO| 2F5H AMO| OH A2 FNIIR?
[a]
a. AIZIS0| Aop7t= o 0183k= 7|YS EhSLICh
b. ShAt0| 2ZSH St & DS LIEFLICY,
c. IN2 B35 XIS 2717| whZof IStk
d. Y20t defAzl shLich J2|0 Z2|ZLolE Sk
Lick
Vocabulary Focus
Z} thofof] 232 20|E Slof HASIMIL.
1.¢ 2.d 8.2 4.1 5.c 6.

Y B0 22t 4l

S M.

SH=X{0
=S

Ch/ 2ot/ AN WA



[active]

3. U2 HERHX|HA T 21 FHYFLICL
[harden]
4. P FED 7tAE= St B 0|0 olsE S
ct. [ash]

5. 0| &ofl Q= M2 =27t o= o USLICH
[lava]
6. 152 AEH LIRS flofl HISS EYCE WS HTE
Lict [soil]

o= 20l BEAIBIML.
1. Soiie gAo| 2&5=H aXS Yozt R, [b]
2. Ol= L20IMRE LafAzie FHLICE Sslf Z2|=L o

OHZE77IX] 0|01 UAZLICE [a]
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5. 7|0| 25104 ota0tE X|Zt BRZe=z HojdLict [bl
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utor

5A2
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=X 25U [come]
5. X7 EH OlHE20ll= SslE QMoo= JISEL|Ch
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Organize & Summary

ZE20|M U2 YEE 0I8510] OIS EE 2SI

[Detail] Lava When parts of the Earth move,
magma is pushed up through the Earth’s crust.
This is lava we see when a volcano erupts. Lava
is extremely hot. Its temperature can be from
700°C to 1,200°C.

[Detail] Life near Volcanoes Volcanoes are
very dangerous for people. But sometimes the
heat from volcanoes makes energy that people
use to live. And lava and ash from volcanoes
turn into rich soil that can grow food and forests.
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Science | UNIT 8
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6. olUx7t 220 U= & = I IS TS0zt

o ghct, [shakes]

S= 20| ZASIMIL.
1. TS2 ofUxPE 22| HAE &5 o ZoiELct  [b]
2, Tt SH0| giS W= A2|= SiEUch [a]

3. R2l= &2 10| TSI 2218 S2 & UsUCh[al
M

o

>
un
rlon

a thin drumO| HAO|EZ because of
4. o Ag|= tHE mpEQI BHH, o CHE A2|S2 =8
IEILICE [b]
5. SFH[AHAS0| oof7[5h7| sl FAME
= A2 0] HEYLICt [b]

=
hl

N
i
P
()
ell]

This is why ~ : 0|42 ~ot 0|R0|Ct

1)
b
rlo
ra
i)
i
11]
o
Ho
o}
ufo
I

0x
gl_l
=
[39)

H0
i)
rr
-

£ 083N A2|1E &2 + UsUCE  [using]
[
—

. SHXIZ Off ZiS2 42|20} EELCE [faster]
3. F 32 3717t 97| W20l TS-SeqYLcE

[becausel]
‘here ~ air' 7} 2X3H 20|22 because M
4. 27t M9 & ZE32 E71 Mol HIHE A ELch

[caused]

o
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Organize & Summary

EZ0/M 2 YEE 0I8510] LIS EE 2MdsIMQ.
[Detail] How We Can Hear Sounds We can
hear sounds by using our ears. We can hear
because of a thin drum that vibrates when a
sound wave enters our ears. Some sounds

are very fast, high—pitched waves while other

sounds are slow, low—pitched waves.
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Social Studies | UNIT 9
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27| Altfo] Lt BHS mapds 2ol ULR?  [c] Vocabulary Focus
H3| 102 - _
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4. 27|MolM T 7IX| Qs 242 Tl
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Organize & Summary

[ E20iM B2 HEE 01835101 LIS EE 2MBIMIS.

[Body1] The Rocky Mountains are made up of
rugged mountain ranges with deep valleys. They
are good home for many different animals and

plants.

[Body2] The Rocky Mountains also provide

many natural resources for Americans. Coppers

and natural gas are the most important natural

resources from the Rocky Mountains.
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Organize & Summary

220N B2 HEE 0|8s10] LIS 25 2R
[Body] In the 3rd century B.C. China’s first
emperor ordered the wall to be built and had
new sections made as needed. Thousands of
workers worked for many years to complete the
wall,
[Body] During the Ming Dynasty (1368~1644)
The Great Wall was built by various dynasties
over a few centuries. Each dynasty built
extensions and repaired the wall. Most of the
wall that stands today was constructed during
the Ming Dynasty (1368~1644).
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e = 1.1 2.2 3.¢ 4.c 5.d 6.
a. A7tz b. }&E DC.
c. MZBHA|AT d. 52 B ElOfS Za} HIZS MM,
4. =X| YAIE0| 204H0| RS I, of FEE Mot/ 47/ L2k =7t/ 2o / R/ S
S S St
Hotol KinEeR SestiEU. [b] 1. 2% FE| Holot 217 R0 UOIA AAIA Cht
Edq A
a. S MA b. = 2 = 271ILct [country]
=O 1 - -
c. o= d- = u= 2. 1 BY e JI20IM MEslol £53 182 Wk
5. ZX| MBS Tthe Acket Sof ol7h) Hick [prominent]
SOIALIEL bl 3. 1 27l LA 20000 AR 2Lt [military]
At 4. 1= falUztol A BN (jSYoRK £88 Kz
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Ho| FASLCH [president]




5. 1 Liato] MBI 227} OfARKE ZiRCH EM O Lkt

Lict [situation]
6. 22| XIUM= 71tst ARISHIA TR BEsict
[unfair]

o= 20| ZASIMIL.

ZX| HUE2 01=R0M 7HY RS USE &
ct. [b]
S0l SR FXIQI0| HAELCE [al
o

Y=0| Rufste S| =8t Mzl

el

YUY

PSRl g [a]
4. ZX| YUE2 7o IS0 J|AFLCE [b]
5. 0|29 £& ‘Washington D. C.'= 19| 0|23 A X|
2 ALt [b]

G o

1. J= HX|Lotet THE F50| F=o| ARIX| MEli2h= g
= YU UASLICL [that]
Virginia~ 0| 2%0| situatons AHIEZ 54 7
LA} that 48

2. O ool Ao 285 XFHe R ERFELICE

[as]

CHOIE S2t 22 s,

rlo

(4]
[
rr
i

Y FAIQ Moz JHE 7|AELIC
[remembered]
4. 0| 0|72 F=C2LE| =RJMELICL [from]
=2 17833 F=Futo] TR0 S2IRELICE

[against]

Organize & Summary

[ E20iM B2 HEE 01835101 LIS EE 2MBIMIS.
[When George Washington was eleven years
old] Although his father died, he received a
good education.

[In 1783] The colonists won the war against the
British.

[In 1789] He was elected the first president of
the United States.

[In 1797] He left the government and spent the

rest of his life as a simple farmer.
[17324] Z=X| LAE2 HX|LIOtoflA EHO1REELICE

ZX| HE0] 114 mf] 19| OfHXl= SOPHIXICE 1= &
Bt uFS LUSELICL

[EX] H4Eo] 204 Mi] J= =of Uk EESH XIFR2
2 S35

[1783] A2IX| FEIS0| F=uto] TN SalFELICt
[17894] J= O|=2| Z0H LiSHL=Z MEEIUSLICE
[1797d] ZX| B2 FEE mHLt 2

2 2SRELL

—

2
i
O
iks
ol
i
I

presidents CHEHE education @& military =i
colonists AlDIX| Z0I1S elected M= farmer
=2

ZX| YEE2 0=0IM 71 fEe tiEE & of YL
= 1732 HX|LololM EfOYREELICt. 12| OfHXl= ZX|
B0 14 I SOPMIELICE J2iLt O= 288 us3
BIORSLICE T AR Mo| £l of 20| ks &85
Xghttez ERSLIC R AlRIX| 2150 17834 &
Ze| oM S2IRSLICE 1789 X=X| LHER D=9
Z0 HEYCE MEXUGLICE 17979 =X YE2 FRE

EHLf E2 MoiE FEe 22 2RSLC

[= i)
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=64 | D RE Z FHO= Ol=0iM 15 ESat ARIo] H2IE o LM fichet A=0|USHICE =
19291 OHSHELO M EHOIRESLICE. 2 GA| OI=0ll= BTVt 2heial QUASLICE S2US2 el 22 4ol
M 2US A= 20| SI=f=IX| LUSHICE S21 0f2I0[S0| 221 0f2I0Sut 22 Stuwol| Ysish= 2 Eot S2tE(X|
HUSUCL Z ZAE ALHA 018 HERSE F=ol|Z 2 '?ﬂ%l—lth HAOMA S212 HolofA| Xt2|

EHOF':'* °”ALIEP 0] 232 1956H0f S2|= SRaUct. 20(01 Z ME SQIS0f tigt 258e! tiR0l &olsk=

Suich oo =
2 JofA| 1964'—“' LB TEIALS Oz
2 oLt 25 ARSS of
OflA] 41| =12 talet 1 &S Il ict

ol A|__||:|» FA| EA'—O' HlEE1 _49_|-._,_E_ 1964|j

42 2010| 12 BE AT S20] TRl
LIC}, 1968 Z SAt= 1[5t0| &
15| 19| B, 5 0}0|S0| XAI2| miRA0] Ol Xphle

Hatet if7ix| 252 S20|Lt ME|AS OIE3HK] §
=

=5H)0| P0fxl=
2Lt 2 2Ale] Holz2 B
F0| 20} SHSLICL M MPAYF 10| S
| eizioz mEtE 27t

n. Q5 R0 ARSES LA CiEAL E

ol=71 4.9

FREEM7E Q0| 5.012 1 n. OfH AIHOILt 22E TE= A 6.57 1 n. S8t ZUE 0|F

EHOfsHA | 1.8S 1 n. 22 HEL A X9 SE A= dEf 2.215R1E

S AMSkE A 3.2012S 1 n. O ALt LI2F S0

S22 la THOL AR 2

= AME 7.55 1 n 40| YH5| EL= A 8.LHES 1 n. O A 2ol SOU= A

Comprehension Checkup

T yge B2 mEMR
1. 222 52 2o 3t 2oe? [a]
a. S 20} 2UIRS
b. BIR0] OfEA| AR
c. 0l N2 T LIS Ro2 Stek
d. OfE1 26| 2 2] Ho| £7
2. DIHHS oI BISO{HLER? [b]
a. 19294 b. 19644
c. 1956 d. 1968
3. 29152 AN HoIS0l shotar
Lt [c]

b. H2|E Z7[aict
d. HAOA LH2ICH

4. 196810] Ol 2E Z SAli7lE £2 o] YHHLIR?
[a]

a. J= 0| Hot &}

b. = OHSEHELO|A] EHOf & LICE

c. Je AUHA 018 HEREE 0[ZUSLICE

d. J= 8 HolaS BorsLIC

Lct,
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5. 2(E) 2017 19648 L HokAkg 17
HLck [c]
a. 10| mjEM b. 19| 2|9 &
c. 0| Mo|Z@ = d. 19| EZHS IR
6. TIEHO| Al FAOIALIR? [a]
a. 0|2 EQISE CIZ2 MEED £20| 2ol JE
Lict.

L2 TP 22 & 5
FAUSLICL,

S it

d. 0|2 E2E2 MIAS ¢ LI2 o2 ohE7| {5 £
{u]

Vocabulary Focus

Z} Chojoll %42 2|n|E S0t HZEsIML,

1. 2. 3. 4. 5.7 6.

2t HIZES M.

"
o

rlo
rn
k=)
[
T}

S/ =M2S / Bol=22 /R / =5/ HE

1. T M ARE2 19 gRAR F30| iR sTE




Lc. [death]
2, 22|= oy 2l 21EQ| BSS floi M RS,

[equality]

3. AIMIS2 159 2250| ot O59| lHo= Hytp gt
OfoF SfLCt [content]

4. NZS2 AZ0IM HIER M2 F2iH Ale &2 &L
ch [peaceful]

5. HIZYISS 1 E012S0| L2 JEToIC Batel

ct [boycott]
6. 4 S\t SQI59| 2% 0] SofRtELICE
[treatment]

[ 9= 2xi0f ZAISHIL.
1. Z SAlk= AUHA 012 HERSS Fol7 |2 Z2aRliS

Lick, [a]

2. 19| =22 H MiAlo] 2lsh o ZASLICE [b]
3. JS2 HiQlnt Z2 MFA BHE A= A0| Si==X]|
orokELICE [a]

4. 1 YA 0=0ll= QIBF7t BHtel UUSLICE [b]
o Ho|z22 SHE2 T0j|A 1964 L TS O
Sk [a]

=
1. 19683 Z SAk= 2RH0| 22 S0fl WOt SRSLICE

[was shot]

2. Z =AlQ HIZY Hal2E2 19649 DIEH(oI=e 52
QI E5H)0| PHENX|= o YXRSIRELICE to bring]

3. S0IS2 2E ARE £L2 WACR thRiolof &
LIck [be treated]

4. Z A= B2 HSAYE F=RELICH [many]
5. 0| 252 19564 S22 BRELICE [ended]

Organize & Summary

[ E20iM B2 HEE 01835101 LIS EE 2MBIMIS.
[1956] Dr. King led a boycott of city buses. And
the boycott ended in victory. Afterward, Dr. King
led many peaceful demonstrations that protested
the unfair treatment of African Americans.

[1964] Dr. King’s nonviolent and peaceful

actions helped to bring about the Civil Rights
Act. And his pursuit of justice won him the Nobel
Peace Prize.

[1968] Dr. King was shot by someone in 1968.
[1929] OFEl 2E| Z FL|0{= OHSZHEIOlA EHOISHELICE
[1956] & =Ak= AlLiHA 018 HERSE 0BUELICE 1

2|1 0| 22 S2I2 ERELCE 20(0] Z SAk=s 52150
et =SS ol eelste B2 FRAIE F=jsd
=

[1964] 2 SAle| HIEE Ha2E2 RIAH(D=F] 52 1A

ht”)ol USOXI= o "EL%}?";\ﬁLIEf Z FAR golz2

equality WS boycott HE 2& victory 52|
protested ol3H nonviolent HIZZHAQI

shot &0 %2

O 2E g FLO= 01Z01M 215 BSTH AlRIe| H2IE
sl SAIRMSLICE 2= 1920 OfSRHELOA EHO{SEELICE
19561 2 FA= AlUiHA 018 HERSS 0IEAELCE 2
2|1 0| 252 S22 BRELCL 20/0f Z ZAk= 52

o

OIS0
Ofet £ 20 Bolsts B2 BeIIS FsU
k. 2 A0 HlZ2 Tales2 1064 BIEH (0l S9101
# HEH)0| DISOIRIE o UXSIHSLIC 2 Aol FHojz
2 WSS 07 1= TS OELIE B L 2
AR 106843 Tigto] £ B0 20t AHELIC
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Zo4 | 0|=2 ORI LiZtULIC Ak tHEEQ| O0f=Q12 715 HiZof O|TRIAH +=717F sl 4 &
%0._ H MAolM 2 O|ZIXES0] Ol=0fl SIS shRAELICH F2|AET SFHATL 0] tiF0l| =2fet 0=, 1600HCH
0|2IXIS0] MZ2 H22 0|Fal AFLICH LF= 2| IS ROV} i REVIS0IUY, £ TE UR=
BuH KRS Hok2 HHSH ARZSOIRAELICE 1700FHol= MRE 27(E01M 2 ARS0| 01222 AUE
Ut 252 SFet Eub AUSQ| TEoA 7| 4 QUM HEC O L2 T[] HZ20]| 0l=22 01F3EH
ZE O|YURIS0| AAZ HahA 2 X2 ORLIUSFLICE 4 2to] SQ150| 2529| AX|et= itz 0j=2e= 0122
AL, ZHZ 07 =IRASLCEL SUS0| KRS &St 242 =TH0| 2 EXtE HASLIC 18008 Stez
71N O B2 ARES0| 0= O|FahEU. BREn SFE 249l RS0 0|=2 MRS JiAs17| ok
O|FsliRtELICt. 20[0f OFAOIRISE U= HoF BIFMSLICE XIEHQI 01F7tH 2 2= 0]=F0i|= Chfet 2isa
a9 Zei7t ZXHskA Uk

>>"

EHO15H4 | 1.0[21Xt: n, OfEH Liztofl FAISE | ffel 7hs AR 2.H12 1 n. ARH| AfRlM /it 8.7104 1 n. O o| &
LI=S EoIF= A 4.8 a, 0| Ql=, LK 2 5.358 1o, A0| U112 U= 6.~F2= :pre. OfH XS

foliM 7. =2fSICH: v, SRX|0l ZEGICE 8.21F2| 1o 22 28 31, 7| S2 71 AlSe| 2 HEHRIE)nt 2

oo

. =- (=]
Comprehension Checkup a.s% b. =%
c. =8 d. A2
Th yue B T=HR
) 5. T MARIN = 2 0= SIS ol &
2E2 F& oo Bt =07te? [c]
R, auit e
a. = =
oo| ::ro |£—o a E%EV% b gﬂ%
b. 20| % 0
e e c. 0|2IRtE d. RIS
c. O[2IXIe| Lzt O|=
d. O|2IXtS0]| of=0f 7[ofst & 6. AIZIS0| O|=CZ 0 0[R0] 2l AFMO] OH! A
3 2 Faerte? [b]
. 1700ECH0| MRE MEHE2 of 01222 0IFFILIR? [c] -
a. & 2| Xsl7| 2lehM
a. WHE 7|70l 25 47| 2lhM i
3 b. ZHZ =07} =7 Sl
b. SWHQI XIRFE FOtA 3
] c. SWEQI XIFE FOtM
c. O LI2 7|3|E F0tA .
- i d. 0= MEE =&dsl7| A
d. 0201l 32 M7 Sl

. B2 EUS0| Ol Lo|2RE XIRE IS SR Vocabulary Focus

27 [b]

a. 160043cH 2} clofof| e ojn|S Fop HZHsHHL.
b. HEFIM0| BYS of 1.0 2.b 3.1 4.c 5.d 6.
c. F2AED Z2HAT} R0 =25t 01%

4. 3 I 0[aIKIS0[ S 1 ugte ClojE Zat HIZke MM,

OIS / 2ty / 5ol / 2&2|, et / =Xt/ 2

. 1800ECH| EREL SRE ARE2 01=9
2 ojzsaLct [d] 1. ™ A7 A Qs B

30

I=0)
0|

tielo| ol=ofl olHFXIGHEL




ct [contributions]

2, HHSHARRIS2 HX| B XIRE Hizta UELICH
[Ordinary]
3. 1800 Stez J1HM o B2 0|2IXpt Oj=C2 %t
FLCH [immigrants]
4. U2 I MHS2 M D2 76| sl olFah &L
ct [arrived]

5. zlLizte| RE AlZI2 XMofch 20| CHELICH

[background]

6. LR IZ0| 0fd LS Ao FLC, [ethnic]

[ 2= 2ol ZABIMIL.

1. ZE 0[2IXHS0] AAR PoHA 2 R OtLIAELICE [b]
2. JS0| AIRE ST A2 HETM0| B2 HASH
ct. [a]
3. T MIAllA 2 0|2IXHS0| 0|20l 12 sHRELICE [b]
4. 0[=0iA= CrYsh BIZ0| ZRtsHA| ELCk [a]
5. Z OIAORIEE YU 3ot FFIHSLICE [b]
(2] Y2 clolE 23t 22 MG,
1. HREN SRY Eblo| AIRIS0| 0FsHRHSLICE
[arrived]
2. OS2 XRIS0| 7| 4 UUE AECHH L2 7|3
20| RS 0|F3HELICE [than]
3. Y= 25 | SxoT H REIS0IELIC
[who]

adventurersE 72|17 1= 24 2AHEA who A ¢
4. £ 00| 0152 159 ofX|2t= HiiE BaigsL

ct [were brought]
5. [EE 012212 71= o)l O|TIXIUE =717t UEL

ch. [was]

Organize & Summary

[ E20iM B2 YEE 01835101 LIS EE 2MBIMIS.

[During the 1700s] Many western Europeans
moved to America because of the plentiful land.
And millions of African Americans were brought

as slavery.

[In the Middle of the 1800s] Many southern

and eastern Europeans arrived to explore the

western parts of the United States. Soon, Asians

also went there to find work.

[1600CH] ! Himf O|FXIS0] RHiLS Wa| Zonxt 22 &

WA XFE Hot RELCE

[1700HECH SeH U2 MFE Eho| ARfS0| S8 E M2

off DIZ2Z O|FJUELICE 2|1 8 Bte] S9150| 0|2

SoZELCL

[18oodc B4 B2 SRy SR Eblol AlFES0| 0=

o] MEE JH&st7| fsh OlFsHRHSLICE Z0|0] OfAOIRIS
US Hot FIHSLICL

[25H] 0j=0lM= Cifet DIEm 150| 237t EXfot €

Lick,

[ gt chol2 HIZES i) 228 2o5IMIS.
immigrants O|2IX}E religious ZwX?! land &,
SX| slavery 0l explore EFISICE cultures 23}

=

=

0/ 0J2Ixte] LtztelLIc 1600WCk 3 R 0|FXIS0| A
g W moTR} £2 S0 KRS Hot HELICY, 17004
ol B2 NRE B419) ARIS0| 28 I 120 oiFe
2 OIFSHIBLICL T21T 44 Blo| B0IS0| ko2 Baiy

ﬁ'—IEh 1800ALH %HJE =RE }%%E 4ol w2 At
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18611 &, 0=e] Hat 2 Afojof IBH ZS0| ZURsLC 2%0| 0j2e o
Z= OIK| X2} 0| Ha|2H th2of 0ET0I ZElsknAt SIgALIC 152
S5t A0 OB SHFEEIL D50 X W ZHISH: S M|
Lict, o) *IEH 2HS ool UNUALICE Lol EASS 22
mE0l 2518 =

SOy

olotA
[ESPVN=]

L] q
E}I'_

|=| =]

El

LICF,
A}%EF

Lt 22 S0 I LOHE HXISkE =
12} H|E|ZHT0f A E':e*of

4>J+

2|5HA| HHHRASLIC 1863'-.i| HE= glA ||:f III|-7<|LH 1865

(S =]
— OoT

9| 2| FZ0| Y=stHM 2= Y2 BLIA =IASLICH Tl thyk= 'E!EH%!XI':.'J XH?_*’S!?JOI HiZ AIREIRAEL

Ch. SQI2 AZIEE 2| HJASUCEL FAL0OE O=2 SlHE a5 + AU el =7tz HE + AMsH

=

EHOlEA] | 1. &GIC v, 2 2 22|18 LK S1e2 BM LI 2.72] 1n ARI0| & 4 Q= I 0fH A 3.
SOt v. B3| Lslct 4.ZHISICH : v, Wit HohE2M Szioll 7I0iST 6.5 1 n. 7712 ARl YR £

6.3= | n. HHHE FSk= WX 7.5Al: ad. XIHBIHLE BEY Q0| 8.2Z5IC: v. HAHK| 2 HEHZ RIS

=

AFZISHA | reproduction of the Emancipation Proclamation =0 sHg} Mo20| 2x|=2

. o315 oL
Comprehension Checkup welohAl BFFRELIC [d]
a. 2| K20l b. Z210{7]
Jha ggre B2 nake c. = Fmo) d. 250
1. 222 2 200 B3t 3IR? b
T TR0 e STV o] 6. = 70| &30l Tl AMAIO| Ol 22 2010127
a. 0= oY [b]
b, HE2XxM0 7 HSF
ST 138 a. BOISE AIAS 2oiaLIT)
C. 6|‘L|‘9| %?EI 37}, Dl% [ A= = OSHA
. Solme ot Hon S=gL b. L2 ASHHA OIS ARSELIC
=20== HE = =N
SUSE U ARE & c. D2 ARYSS 3g 258 4 UL
2. Lso| 935t HS B910[2ILIR? [d] d. 27 IS o] e MEsaLIC
a.o 2L 1 b. 25 5%
c. o B2 o d. Zoiiet 2 22iE Yn Vocabulary Focus
3. SIS THORTH 38 27 [b] 2} Elojol 3t ojulg 3ot AL,
a. 2% b. AlBIR
°° 1.1 2.2 3.¢ 4.d 5.c 6.
c. o B2 AH d. 25t
uore clof Tzt HIzke MR,
4. 20} S0t RS ALLQILIR? [b]
a. 24 5ot b. 18611} 1865417 SEoitt / #el / it ¥ HS*E”
= ora ;
c. 25E A27IX| d. 17M|7 |55 18MI7 17X EE
1. 158 7 :LEO _l'__E()l 7|- ;t 72 A
5. 7ol MBS A7l HER0| L0 LS BEHM - | mSe) ol ciol A ol
X| &L, [interfere]
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2. HES TX|H O ZER2 3 OfUof Ze Ay

[explode]
3. O, o|=20IE2 Sl B&ctn 27iE S8ig 4+ AU
ASLIC, [preserve]

4. 1 AEEE2 OS50 Y=0M B8 2 sLich
[surrender]

5. = Al2{0| 04 EX| 20tA 1 ZAlof Z2CHOll UCHE 2

ARASLICE [army]

=
QIS2 I59| HRIE Horiu HMELICE [rights]

i
Jlop

[ %= 250| ZAGHL.

1. S5= JRE0 Q97 Of B XHEE of BASLICH

[a]

2. H5 YAIS2 U2 Bt 2 M= o ss3sLch [b]
3. HE S8 nF 0| 28 2Y AR MZFELICE
[a]

4. 0|=2 SIS #58 £ AT, st Z7IE HE &
UARABLICE [b]

5. Q| th7k= HCHRIXIZH HZAZIH0| HIR AIRIZIUEL]
ct. [b]

Even though : HIZ ~2t EX[2t=

1. 1865E H52| 2| E=0| S=atHM A2 B =i2tE

LIEk [ended]
2. 18634 @5 = S0 MotUELIC [lost]
3. 50z 27|12t 252 o Z MR 2 Q= S0 U

RAELICE [better]
4. 52 =3tsToiM o o oSS 7% ARst 4

HELICE [to continuel]
5. T xHoll= H27t 017l= R3ELICH [at]

at the beginning of : ~2] Z7|0j|

Organize & Summary

[ 220 Hi2 YEE 01835101 LIS EE 2MSIMI.

[1861] A deadly conflict exploded between the
northern and southern parts of the United States.
[1863] The South lost to the North at the Battles

of Vicksburg and Gettysburg.
[1865] Finally, the war ended with the surrender
of the South’s General Lee in 1865.

—

Y H] SR 1Wh F= HYFERIL 259 F gl 2
= 2 HX| 710l DIEgS=0IM EElGtaAt stsd
ct.

[1861] OI=2] Hak = ALo]ofl X|EE ZS0| SLRELICE
[1863] HF= HlAH I} AlE|ZHI MTIM S0 IS
Lct

ol

[T 2] 5212 ARIES 2 HUASLICH ILEIJ'_ =2 &

leave MULCt interfere ZMIGICH conflict 22, &
surrender &= citizenship A|2I# preserve é
SICH
RO i = AYHRIL 259| F Ho| ZHdsk= A
= EX LU0l DB HEBIIAL SIRSLICE 2=
18614, 0= &t = Atojof Z#S0| BLIUSLICE 2=
1863 HIAH QL AIE|ZH T MEUM R0l TRIELICE
1865 M2 A= JR0| 2| Fol P=Eo= ERtELch ™
ol LI S012 Al2lEE 2| =sUCE J2|0 o=
o

258 4 Ui, sitel 712 HE 4 gteUd,

rar
fio

EH
=
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Zol4 | AlS0| &op7ks s MAXFH0| TRE T, TJiLt MAXIESO| A ARIX|D UASLIC 22|17t
I-i.‘- HA 2| MRE ARZBICHHE 2020EF0= 2E ARSI SE6HK| ¢4E A2t LR ISIKE2 LR

Cf. MAXIES HYSIH ALSSHE P2 FALL? MEE0| HY 4 USLICL HMEE0[R AHE MZ2 HiE2
2 HEIAIA CHA| ARZRICHS RYUICE 0= X27| tHEX|Z 7hs 42|7]|2] ¥ E0l= Y07 |= SUCH e
2 OHXIS ZARLICH XS HEESHE A2 M22 MES S0 e ZEC0H oUX7HE MYL(Ct ofUXIE
Hofoltt=s A2 37| 2F, thdd], J2|1 247tA RES € Sitte SYUC Z2oll= MAIQ B2 TS0l M
HES floll 2EILC MEE2 57| geLitt HA MHHEE - U= ISS oML, 301, 7|, J2|u &
2FAEI0] 7HY 28 ASYLICE a2 LM M2 COFE AMES 2[R0l S0IFM2. XSS La7| +HE 2ol

|.

2

_|_

i
I
X
I
>~

HEr2 MIEfof

utor

Uict = SMIEO 7HM7 M. THEEE MES AL THEE 7HSet MiES A A ot SQELT e
S MES A= A2z P2l ofuX|et MAKIES SAl0| Zefsh= o 22 4 UL OFRE H22 37),
2FHE =, gt EY0| U= MYS HolX| B2 AL f2= HalE s + UsLITL S50 2o =X
HUSLICE XIZ HIZ AIESHAIR)

OICt 4.42(7| :n. G &
. Z[20] : ad. HF 2zK<]7]

EHOIsHA | 1. KIS0 : v, RARIVIS AISSICH 2,85 : a, X[67t U= 3.§A6f
S5t HRSHK| L T A 5.2F 1 n. si22 SESE 2l T

Mol ofd 7.=22|E 1 a W2 EOoiTl 8.%H et o YHS XA+ Ql=

='=<
o

Comprehension Checkup 5. MOt XIHE MZL2 MEZ HatAIA 2t

= XUt [c]
M L2 HE DEM2 a. 2EA7|Ct b. &H=C}
1. 222 F=2 20] 23t 27127 [d] c. CRA[ ALS3tCt d. 2t
O

6. HLBE MESS A= %O Sal= 28 & 4 Lt

b. CiYst 70| HAXIA
_ N [c]
c. BEA| AREX|T U= HHRI
i a. 7tZ{0| o M HIZES A & JUBLCh
d. HEES SahA ofuX|et XIS Fske A _ R
b. M7Q| &2 mtu|gt o sLict
2, O|X|I2 ®oksH= 70| CHE 0|=0| Ofl 7L 2oioly} c. Of|4X|t MOIXtRS Hokel 4~ UELICE
27 [c] d. 3717} 22 MAS ahaddt 4 Lt
a. O A2 thd| b. O M2 37| 2&
CHESMAE doHEN2 2 Vocabulary Focus
3. ME82| 0|22 Fo| of! A2 2ATIR? [c]

Z} Chojoll %42 2|n|E Hot HESIML,

EREN= x-lokoH_ C|
RIS o 1.7 2, 3. 4. 5. 6.

b. OLIXIE 2 AERUCE
c. 7155 i< W2 ARZELICE U2 BOIE S HIZS AM2.

d. X2)7|9] =2 ESLCt,

4. THEBE 4 g Xs RRLIIR7? [b] 1. Q17 U X|H0l|M A2 sl 2 72|
ZOlAE] = EOF .
a. ZatAE b. & E [pollution]
c. R d. 50|

2. 2| fHXIS EAsiH 1 XHE Zi HEEFLIC

32




[continue]
3. HE2 M7|§ E0l= 7H AMe| W F SHtL
ch [reduce]
4. Z|2 R2|= MAXIHSE S50 ADs 210 JUSLICH
[Recently]
5. 222 F7| RS E0l= AT LHALICL [wise]
6. =Ei0F =0| Maj|7(7} OiA HICHOI| H2{X| T QUELICE

[garbagel

o= 280l BEAISIML.

1. TS MEESE A2 ME2 HMES USH U= A2

Ch ofleix |7t & Ao, [b]
2. MEAEE HZS A= A Eot SQELIC [a]
3. OIR= 3717t Cign 20| LEE MdolM 41 AXl=
s guck [a]

NoZt Fx| 259| 20|82 notg & MX| U2
4. 2717t L2 NAS MAGHEMS. [b]
HAZE LEHE a worldE RHFE= ARAF where
M

[e]]
[=]

5. AS5t7(of Ho =X| LUASLICE [b]

[be recycled]

2. JA2 57| gLk [It is]

3. JRES M7 75 sl ot 7Lt HEEHEf
7HR7IMIR. [take]
HIHE2 A Y 4

4. NRE XES A= AOE 2= oUX|IE Hotst=

ol ¥zg 4 AsHCE [buying]
5. ZZ0l= MAQ B2 2HS0| MEES o == L

ct. [to recycle]

Organize & Summary

ZE0IM Hi2 HEE 0I8510] LIS EE 2.
[Body] The Effect of Recycling Recycling
reduces the amount of garbage going into

landfills. It also saves energy. Saving energy

means that we cause less air pollution, acid rain,
and greenhouse gases.

[Body] The Ways to Recycle Find out which
materials can be recycled. Paper, glass, and
plastic are the most common. Then, place
the different materials in separate containers.
Put them out for collection or take them to a
recycling center.

[E21] HOIRIIS Seo1 ARRsls W2 XLt
[==1] Hegel 51t

REES Ma7| BRIZ 7Hs Mei7|ol g BLIc T
22 OUXIS HfSiLICE oHXIE Hofith= X2 371 2
&, At 32| 247IA REE E Bitke TYILICH
[222] 8o WHE

e 4~ A= AES HotMle. 0|, 72l J22|2 =
2tABI0| 7hE Eot ASQLICE I8 g MZ CHE XSS
22l SOFFM2. JASS M7| 715 sl LiCH =7
Lt A2 77 L.

[ZE] &Sot7|ofl Hr X UUASLICE XIF HIZ AZISIA
2l

U2 B2 BIZES A 2E2E s,

rlo

resources At garbage M|7| energy O|LIX]|
pollution & common E3t products 4ZE
MRS S AlSsl= W2 AEEUCt MEs2
M7| X2 7h= M|7]e] &g FRULICL HES2 ol
XIS HAUFILICE ofLiXIS HfSich= 22 37| 2F, A,

S
[}

1!

&
rno J

g 4t
XSS oMM, 30| =
ASYLCE a8 Tg M2 OE XSS 22/l S0
2. ANES Xa7| £HE Sloh UTh SHLE XHEEHE 0] 7t
M7MR. TEEE MES AL [HEE 7158t HES AM

2. X3 HiZ AlEfstMI2!

A7iA RES E oitke RYUCh HEsY

o

O

33
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(o]

7p—rér
LIC}. 0] 0|52 ‘SinterKlass'0flA
LAHZH 23S W, 1S2 ALS LiseH
‘SinterKlass'2t= 0|E0| 20| MEIZZRAZ HEH
7t EI¥ELICE A LISatAo A2

o
|‘E|-3§_°| EA0| HHP7|-A_||-| _5.3_0" 7-|o I:IEE
ARLCh MEFERAE Xt Hofof| 2t

I-E_

1t ofoISol|A A

[l r2

[

o LiZoil M= MEFZZAS

= njatn 2ale?

EHO1EHA | 1. A0 v, 71= XM SiTt 2,42 1 n. =270 F=
n. M ARIXI0) FESEALE A Li2t2 0[Fshs Al

2h= 717k 5, FAmI

5% 7. 0 Off 2ol XS B g, Eae:

Comprehension Checkup

34

[b]

e o T P

0x

LZAE FULR?
. A2|AOLAO| OHHX]
. 2|7[0l0iM 2 =1

12 et ZA5 A

SUAHZE T YRis

[b]

g.oc'm

X
o

2
S

MEFERATL LISt OIS 202
b. AE|ADIA ME
d. Aok B[] Al LiS

LHFAUR? [c]

FTENRY H AFSE2 MEEZATL I
7 MEERAE 2|7 IOKII:‘—I E712)2]
22 == 7{02
wetiE o LIZ-EPAQI HE2=

g HE2tATt
A

INE =

A0 M= ‘Pere Noel0[2t12 SEILIC} S20(M

f i = I

2|A0pA
R ELES

3HA |
[SPVN=]

M goil ofolS9| Lol M== X
g Z1 olof7]of 2AELIC a= 4M7|
% O}, MEFE2AZL= 0152 054 0IEY
O[S U 17M1710f HIZRE FHARIS0| =
N%*OH M2E MYF= &S 7KL
LICE 19M17] St MEIEZAE £3] OFFE8e| S4et

of Alzloil= Of XtMet 0]0F7|S0] EENRIGLICE 7HY It
= D52 1930 =

0x

= OffH X 3.22 : ad. X20l= 4.47]: n. 100E0]

6.5A 1 n. CHatt E20{A 0§7[5HALt 112i5t

EHXt L2 ORR 20N Xi2k=s B
5. 71% &Rl MEFERAE FFIEEIE QT ©)
2 SHSof 7 U lc]
a. 0l0|= =& Fu
c.¥m FUAE2E| Hiiols
6. F2|AOtA T Hh 0l0|S2 AEERATL RAS dliE
742k 7 |tHEtLR? [d]
a. 00|52 AEEEATL O XIMISH A2 HMSshE 72t
10 7|cHELC
b. O}0|S2 XHISQ| Alh0] Li=0ME 72t Z[ChgiL
ct.
c. 01052 A7IE0IA S8t FAHe7H 2 72t 7|
CHELIC
d. 0}0|E2 MEIZEATI O89| Lo MBS MYUS

723 Z|ehgct

Vocabulary Focus

Z} CHojofl 24SE2 2|0|E Hot HESIML,
1 2. 3. 4. 5. 6.
U2 EHOIE St HIZIS AM2




. O] M2 MEFZZA0] CHel O 2HAIS LIZO| Z&e(0] Q!
&Lck [detail]
. SHAI7| S O =Alf 20| ETERSLICE

[century]
. MEFZEA 22| 0IF2 MIRIE LIZ2tA0MM Feigi

ct, [originally]
. MERZEA ZAMEO= CHUSH FXIQ] 0/0F7 [RS0] H&
Lick [subjects]
. 22| ERE2 F2|A0tA0IE wolct 22| Yol MES
A L [fill]
. Eleg0l QUCHD shM 2E ARHO| MEIZEATLE £
= A2 otk [beard]

o= 20l BEAIBIML.

. O 7HHe MEED OIS0l MEE FE AR ®

HAELICL [a]
. 10MI7| SOt MEFERAE E3| OIS E5te| 9% FHI7t
EUELICH, [b]

EF A 19M717F LI_D 019 SAUt glenz
when MO|X| &2

. 0] 0|22 ‘SinterKlass'0ilA F2iE o LIZ2tAol HIH
ZHEA] 0|ERLICE [a]

A& GOl BAUHALE thatg M| 4=

. AMEREEAE X[H0t Aofol| w2t CHFst 0|§0] UEL
ct. [a]
‘~0f 2Est0'2t= 50122 depending on A

. 1= F=20|M ‘Father Christmas’2tz £2|1 ZZA0|

Me ‘Pere Noel'0|2t SEIL|CE [bl
a4k HOE 2 2HS SR,
. A7 [of WIERtE FARIS0| FAHZH| =2BHS o,

Js2 s LH%E SE2 7K1 LU [When]
.Y UEEAY HE'ZE2 AE S8l JA0= O XMIS! 0]
OF7|S0] HERIELICE [as]
such as : ~2t 22

. o AFFS2 37t 0t0I52] Lol MES AMAUYE Hat
M2Ene? [that]
think2| 2X01Z 0|11= FLAf that A

. MEFEEAE A LIZ2tA = 0[of7[of] ZHEILICH
[based]

5. 71 Hixel *EF—Z‘EéQI 2&2 193940 27k=2t

[was invented]

Organize & Summary

E20M Hi2 HEE 0|2510] LIS EE 25IMI2.
[In the 17th century] The name Santa Claus
came from Sinterklaas, the Dutch name. Dutch
settlers brought with them their practice of
leaving shoes out for St. Nicholas to fill with gifts.
[During the 19th century] Santa Claus gained
more detail through children’s poems.
[AIZH] MIARSE: MEFZRAC| 72
[4M71] 4 LIZ2tA T Of0ISoH MES FAFLICE
[17M17]] 0] 0|22 ‘SinterKlass' oM S2H= A L|Z2jA9)
HZ2=A! O|SRILICE WERE FARIS0| AeS LisoH
A LUZetA7H NES MY ECks 263 7HKT 2 RYLC
[19M17] S MEFERA= 0210|152 AIE Sall & XtAst
0/0F7[S0] HEFRSLICE
[19394] W7t Rt A2 2X 12

SCHERl MEFEEAL| BE2 1939

M H
g'l_l
e
4>
- R
o
[Tl
_l'l:
N
0%

U2 B2 HIZES A 2E2S QofsiMIR.

originally €2l children 0{2I0|Z shoes Algt
poems Al version 2& advertisement Z1

>

EFERAE 447| ORI0ISOIH MES FUH LIB2tA =
Olok7]0fl ZAEHLICE, 0] 0|52 ‘SinterKlass' Ol F2H=
LIZatAo| LIZE=A] 0[S -ILICE 17M17] HIEE*EJE Hat
0] AlekS LizoH SinterKlass7t M28 MY Z=CHE
2 7IX|m 2 ZULICE 19417] St HEEEAE o{Zlo]
EEI Al 3l Cf XHASt 0[0F7 [S0] 2ENRIELIC WM R
Tt #2 Bx 12|71 512k 02k 7HY SiiMQl AEER
AO| A2 19391 FF=at BT THS0{E! ZIULIC

oz|=.lr

o
> N

H

‘1
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54 | M alit Sk=2 Al Di JunO| 19| OfLHRt &
f |Ef olListH OS2 F717t T EAHYNM
FHo| EfLS

2=
==

e

l
I

(0]
(o]
> 1o b

_,_

O H A2

o=

4 &
oz

= Af
Af0| QCHH
LICE EYSE2
S0 tRELIC SA
Jun2 19| EfUFSOA EO}EEPJ-
LICh & 7Ho] Bk E flofl 2E A
HRELICH EHYS2 7ot 7H =R
S BiLict 12| HY ol Ch2 or

ZLICH

i}

=2

EHJoil 0H<
A2 HHo|US 7ok 2t0 2

Mz R1 0lop[5t%E
A0 A|'=°*‘l 7+—n}

Y 0.

N
o> rr

¢ LICt,

)||

B3

=

I

EO18HA] | 1. 40Tk 2 v, O WO|Lt =27t =3

=LO
sig

gt

= 2|0 SZ9| XMoo= ZHELICE IRUIN 1L
ZEARHT Di Junt 19| OfL{of|IA| MES F
sLict & 1o EH°F°

=

9| OS2 7IoHH=

Of Ef

A o
T HAE

& ord Di Jung
2 ots= 7@"'31 Zo{Z4ELICE
LICH Ol 2 OF), 8t Eft0] “&Al
= e L7h= o] S2I51 Sk=2 Lt
7.:.71| SBRUSLICEL AMEH0| @At S22 ZEEHYSS &
ZELICH 2|10 MEEN SSS& HE0 UELIC Di
K| AUSLICE ELYSE 150| Yo7 IlshE K| R3s
£2|H 10| & e & OFES A0t
SLICH 04 SHLEO| EHO] AFRH

o] EZAM EBME 7|

0

o LOoo =

DidunZ === 2
H%E | o0l A =%

Heol JriSS Holste a=

=22 X

FS0[7Lt ZOHHCE 2.4 1 n. Stsat X707t RiLk= A 2

0] H0J= M B.TH4x| : n. X7 ERO| Hirket 2 4, WBSIT}: v. SHfLt SIAIO| 9|2 MSS Kot 5.SOfiTt:v, 2
S ojzig 2Tt 6.0 n. BRI K W 7.AISCTH: v, AR, B BRI Gt 8,24 n, OfE ZHO|Lt OfE AfRtol S

off 7ot XX mlsh

Comprehension Checkup

]
o

H:|I-
EES

I-2
==

N

FIO

a2ML,
e of
a. ok=2 Al Di Jun
2|7t efoll ZArsHOF sh= OlF
c. Bo| Il ol
d. B SHLtof EfO| A E Elat

;
AO
rlo
Hu
»2
T
rok

017127 [d]

=
e

2HE T

. Di Jun0| OFE Ef0f|7 St A
& 20| LoRHLIR?
52 FO|UA RIHSLIEL
b. 152 77} =&
c. 52 sjkslRELCh
d. OS2 2E X nflsi¥ELC

MtE W aS0AE
[b]

Lict,

20| X[HMo= Hi2|m 7 AL
[d]
b. MEE

d. Di Jun2| 29I

. ENLSO[ ol LEZPA ZHOQA X[ o HOJLEX] D2uHE

36

U2 RoeITIR? [b]
a. SE=E0| AISUELICL
b. E/YE0| 7HatH7t =IRELIEL
c. 21t S47} HPR US| CE
d. AEEL SE50| sUsHAELIC
5. E{YE2 159 (O)7H =R =AHQIM &
2 4 SI%7| 20l Z2 Yo LIZEX| kELIEh [c]
a. ZAE b. 7I0FE
c. 7| d. X
6. 7IOIHE Hot EfUFSE2 Y Ol ENS siLR?  [d]
a. J52 25 8 L7t= o S2lstn Mo|QUA XU
ct
b. J52 1E°| oot &7 stsS 7122 Zoj7tof
St
52 Zol Yo7l mlsh7t FARAXIE ALICH,
d. 152 grE2 Holstn 252 BRoAM EME
7|EtELICE

Vocabulary Focus




. N B 2 B AZS TPIR

hup.-*

Z} CHofoll U2 2ln|E ot HESIMI2,
4. 5. 6.

N
o

U2 EI0IS Z2t UITHS HDM2,

X[EM / Tt/ St/ e / AISUCt / Tioh

. O= 29 XY f12 EfYS Hi2tEn JUSLICH

[horizon]
SORELICE
[agreed]
Di Jun?| Otz J52| G7|E 72 4 eiUSELICH
[bear]
EHYS2 AHEH0] = W7IK] M2 210 o7 |5t UUEL
ch [dawn]
KR EMTL 22| SH 2 &S 7IRELIC
[damagel]
= 2 H|7F 2| 0t 2E SEIZ0| AISASLICL

[withered]

EE’(HI A= AZE2 B0 D1 ZARESLICE, [b]
20 FZof wEEUCL (bl

EE
. )\FE'.’ZP-P SEE& 50 UsHOL [a]
. Di Jun2 =22 22|H 19| & HY 5 0kES A0

*'—IEL [b]
SLict [b]

nho o
rmn
Q'E
_|,__
i
0
E
5
9|_
=
oc
-t
ﬂ

. HIYS2 M2 1 0[0F7 [SIRELICE [talking]

AIS2 25 EiUES BT S20] ST
[shocked]
B B ARO| QUTHH A2 THO|UE 70k [could]
it Slofl had7t LI 7P 1740|122 could MY
B Hel EfYE 2= & Livte ol S2lotH sHeE LIzt
SLich [to gol
EIYSE2 HUE $E LIIX| itedl ekt 159
B717H HF EALIN ES 2 9IS XIZ0| =12 37| hE

Lt [would]

Organize & Summary

220N B2 HEE 0|8s10] LIS 25 2R
[Effect1] The suns never went outside
[Effect3] The crops withered, and the rivers
and lakes dried up. The people and animals also
became weak.
[Effect4] With tears in his eyes, Di Jun shot nine
out of his ten suns.
[H2N] EfYQ| FIl= LS =AY &E 4 AUELICE
[24212] oY OFX Di June| £212 St HO| Y2 H2ln S
Zo| XfgMoz ZEELICh a0l 12| EfRR2
2R ZoZEH
[HQI3] EfY & 7 2= &l SHs= LIZELIC
[#214] Di Jun2 19| EfLSOlA Soteatn SRR, 1

=2 =X EUsHCL

Io
g'y

[Z2H] EHYS2 Zoi SHoll L7IX] §UELIC

[Z2k2] Dol A MRS Efoll 042 ZARYD, Di Junit

9| otffoliA ME2 FUELIC
[Z213] ZAl0] AISRUL, 21t 3= LRIHRSLICE AS
1t ==k 52 s
[Z2] Di Jun2 =22 22/0 E 719 B & 0l22 ot
HRSLIC

UT2 TOI= HIZIS iip 222 2AsIM2.

bear &L} horizon X[(4)EM withered AISUCH
weak 523t listen ECt shot &g AQUCH

Di Jun0| 19| OfLiRt & Ho| EfUEt &7 AQLSLICH ENY
o Gz HF Y &2 4 Q70 EfYES ol Bl
LEZIR| QIQEELICH THY OFE! Di Jun2] 012 3t Ho| B2
2o s&9| X[WMoz k5L C 2o 19

5t=2 7I2ER| ZoZSLICE o= B & ) 2= S
SI=2 LIZEELICHL 2 JA0] AIEQ D, 21t Sa= YR
SLCh J2|0 MEED SSEE 512618 Z4&LICE Di Jun
2 19| EfYS0lA Soteet S2LXIT, 252 EX| L%
BLICL Di Jun2 =22 £2/0 g 71Ol EfY = otES Aot
HRISLICE
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=254 | of S22 Zetol| El7| El7| |2 =Xt AE Xi2| Hi2| £X| E HZ| #=E2k= 0152 20150] ARSI

0>
rlo

L

40 o> rr op o
N I
ST I'Iﬂ

E 0H1

xf2| Hi2| £x| g Hz2| =27t 2

ﬂJIIllnl-%
EELE

_|

=
=
o

HT

HiZo= =3 LIZ{T, oiHLU= 250 =45 =

= Z0rS0|7| t=Z0fl 19| 0|52 HIEA| 2T5I FsHA =2{0F RsLitt o= S, El7| E[7| B2t
LRUSLICE E|7| E[7| FEIH 220 1BEX|7| F7HK]
20| &XZHSLICL E|7| E[7| HE= 22 HZLZ 22127 2fa SYoIA AlLi2lE 7tz AZR

A2 O{HLofA R2|LtA SH2H7tM R 20| LofteXIE Fokd sU ot a2{Lt 29| & 01F0[ H
01! 2o LA S&5t01 ofHL|0j|| & 20| Lofu=X] HEsh= df AlZto| B ZRSLICE "El7| |7

1] =01 WAL, E|7| E|7| B =X #E xf2| Hi2| £X| E H2| E
= HO= WML SH2{H AITi2|7F 2261, 02 SY0| &S 742 OHE &~ UASLICE 22| o

L= HF =2 L] SHelofiA| Alt2|E 7iMeatn Eehs o o 21 AZI0] ZRISLIC "El7| E7| 2R 2t #E
A2 vz 2X| H H2| 2SS 2l ACi2IS Roteuzt” ofHU7t SRAASLICE J2lstH El7| El7| "It
ELE o, = UF 22 2201 BHUAT ol SZ0lM === ol B2 AlZo] ZRSUCE ThRis| o] 0[oF7|

= STUSHA 0I5 M= 20l wes FUS

EHOf5HAT | 1.HFZ : n. OF=lol| YIXIGH U= EA 2.71X|1 2CF i v, ZOPTIM 7EH@7ALE E7b @0t 3.8 HFsiCt : v,

i< B2 7Lt MS2] FH7HLE S2I0ICt 4.0[8H5HCt : v,

9| T2 UOMHCH 5.5t 1 n. CHE MZIOILE 715 S 2IeHA

L5t= M 6. 7510} v, OfH AIFO|Lt S21S ARO[ SHZS0IM F5ICH 7. A1 : n. TR S5 0l2i2 EE

8.2 1 n. B2 MRS st LOREHX| 1 Halixl= S&

Comprehension Checkup

off 2t 2717 [d]

Z=7| ot
. %Xl B

IS Z7101M 2= nE

2, 0KS0I247| w20l El7| E|7| ®=2| 0|52
=0} JHSLICE [d]

a. Z8st0 A b, ZAHAZT MAMs|
c. M5 22| =0 d. 2Pt AdstA|

3. E|7| E[7| 2= 19| SHolA FRE 7IX|n 22t St

LIR? [a]
a. Alk2| b. 512!
c. At d. 29| oY

4. 20I5= 7Esh= ol 22 22| & A2 FA0IULR?
[b]

ol

a. 5f¢l b. 19| 71 0I5

38

c. AlCt2| d. 39| oftL|e] =¢

5. 220l 23S HHRA7| WZol E|7| E[7| M7}
oll(cl) W o 21 AlZto] 2L [b]
a. W= b. 3=5k=

c. 342 U= d. S0t2=

6. 0I0|0F7|'—si S0iA of we2 FAUR?  [c]
OflA| ZaiFE

c. O £2 022 3= B&S IIES
d. 2 20| UK cieH OlsHEI==

Vocabulary Focus

Z} CHojofl %2 2|n|E Hot HESIML,




[dashed]

2, Rz 0|2 SHER HE&E MEel= Ho| Lis AL
ch [convention]

3. Y JE= siISolZ 12| OloISS #fst AMAE &
[servant]

HISk2f TEUC
4. U SY2 MZS 701 Hiez LZtsU )

[outside]

5. K= 1 EEE 0lalist7|7F 4T ofE&LICh
[comprehend]
6. XM= AlAS IS0 Lk [ordeall

o= 20| ZAISIMIL.

1. E|7| E|7| ©IZ7t 2201 #X]7| TKlE 2= 20| &&
ZRELCL [a]
2. 19| L7t RE& Lol Lo=X] OlsiSks C AlZHol
) ZREHC [b]

to SYALC| 2nj¢f 01 Yofl= for &

3. 9| siRlofiAl ACRIE 7MLzt mar— oo 71 Al

20| ZRELICE [a]
It took + AlZt+ to EFA~ - ~EH= O] AlZI0| R
4. 27t 320N El=xk= ol B2 Al0] ZREUCE  [b]
5. 0|X2 SRS wES FUSUCL [a]

tello] 2 SX02 MHAE LEeh 2AHEAF what
M her tello] ZHH=X{0f

2. 19 ojmL7t R Lol Loft=A| Olslish= o AlzZtol

oy ARG [to comprehend]

3. J89 HUe= JS0iA ZA5| et YasLIc
[to bel
4. 20IE2XM 19| 0|22 Ht=A| TG D ZZI5HA| 220t
G [be spoken]
5. J= SE0IM L7P7| el S0l AlCH2IE 7idQetn
ABIFELICE [to get]

Organize & Summary

Z2Z0/M 2 HEE 018s10] LIS 5 2siM.
[Effect1] His name had to be spoken completely
and reverently.

[Effect3] It also took long time for his mother to
comprehend what had happened.

[Effect5] It took a very long time for him to
recover from his ordeal.

[21o1] El7| EJ7| s 3t 5201 Foto| S0LS0|ULICY,
[#e12] E|7| E7| HIET7} 220 tRELICH

[2213] E|7| E|7| REQ| OJE0] T ZUELICL

[&el4] E[7| E|7| HEO| Hok= 1R =

[22I5] E7| EI7| HIE= 4T Q8 A
[Z1H] 19| 0|52 HH=A| 2HEiste
ct.

[Z2112] 2= SHoIA AICI2IE 712t A2REL Ch
[Za13] 19| Aot F& Yol YAHH=XIE ofshst= L= 7!
AlZto] HHELICE

[Zat4] 49| siRlolA AlCk2lE 7ideetn ak= ol o 7!
AlZto] HHELICE

[Za15] 27t SZH0lM 3= == o E2 AlZto] ZRELIC

Epee=[
[2h =0l AASLICE
7

o

205 =2i0f HSL

U2 CTIO|E HIZIS M9 2E2E 224stMIR.

first A #HW completely 2HsHA well &
ladder AlCt2| long 7! servant sf2!

E|7| EI7| H2= ot S=2! Zete] 20k=017] tiEof 29 0f
S22 HIEA| 25t Z7dsh| £2{0F FEUCh o & vt
P20/ HRSUCE 20| SY0| AILRIE 7HXI3] REUch 2
2{Lt 19| 0|F0| HR ZU7| 2ol 12| Aot £ 20|
LOIt=R| Ofalishs o 2! AlZto] ZREHCE 19| okt st
ol AlT2IE 7HMe2tn Yotz di= of 21 ARI0| 2RiE
LICE El7| EI7| HE= HF 2 AlZH 2200 A7 2ol

FA0IM gl=xl= ol B2 AlZI0] ZRELCE
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22|Ct oi|HiZ2f0|=2 HOok= 2N
2t Of2|9] MH& LIH|7} 0IS3HH
LtH[<] -"‘-ﬂ% LOI 4~ A=K SS5HA| piLiR? 2 HEs
SILICE DfeixtLt 7|KS2 o TEfs ARSSHM 45 2ok LICt. o202t
LELICE Ol 2™ F20|Lt FHE ot= Ol HME AMEst= ZJEP A7 AU 6IE
S A0 786l SAICE O 2 KAIL &2 M| fleiiME 71E80] == O

ar2|2| 2°*01I 3'.:*3._ 7IAE SHof EQtE PUCh =2

fjo ojr

T

— A

OlEHE =
C}. 021 &2 7KLt RISIAIZH O1EA SSto|Lt
ME MLt L[S XS Mitk= X2

72l =7+

OILt ZEX|2| ZARX|Q! Akt
=0iM 2 Eof

52 27} U2 AISE 4 U8

|0|h
ML

L

Ct. 0] dR0l= X HollM +1& CHA JHE wiELICE TJ2(0 Ho| & wh7ix] 2 Ho|Lt CHY 7H2| &2 F0{0f st
=X FSEILICEL J2{H &2 ot WM MX| §inE 7E9| £E A 4 USLICEL DfsiXiLt 7(X7F 2 X0
X|of U= H2 A +E Aoih= A= 22 wHLICH 52 &2 XI90] = MEL| 71E £E FeiLict a2
1 LR A X0 U= 2E ME2| thalA &5 AlARRIL|C
EHOJ5HA] | 1,83 : n, EEAOILE B2 Llot HR 71 21t ChRIE J1RI 2 il Af 2,39 . AE, 8 3.7(Kt:n, Al
2 TIX| S0 M O0F7|S Ml AR 4.CHRIKO! : o, 7{2| THLE MBS 5. LHESICH: v, O 20| Yo Tatsict
6.74 1 n, 7k200f FHO| Q= B B 7.7|F(H)  n. OfH 70| ZHE 4 U= EX 8. oML} : v, ZHE Ufalct

i oo 9| nEX=W I
Comprehension Checkup c. B2 2T d. 258 oty
Jbst erare sie 1M 6. 2 FHIS 0|2E U2 S29| 42 UoiHe wWejo st
co = cuoio] 25t Zo1) . ARAI0] OFd 22 2017127 [b]
1. 2E2F=2 et 201712 a
e = a. 22l= &2 X0l U= S2EQ| 7IF 45 MEiE 4
a. Og Mats
b. 7IXIS 3t TSRS wetle
AVS=nianlEiyN =
= = b. 2= H| X[H0| s HEfS S250| 45 Yot
c. TAST S250| 27t M| o
2 QUL
d. 2t x[eio] Bre 91
Of2) TS AIBSH0| 22 LOMK= Z0| TS B
2. 20|Lt 7Ix|2] CHEFEOl AALS Boi0jalm BILIR?  [d] d. 2Bj= 2 Hojl U= TASS A et 2 U A
a. 7IEE) b, B2 917 g3t
c. B d. of2
3. S 4Lt 22 ol A Sl 20| TREIR? Vocabulary Focus
[e] 24 Elojoll Y22 ojulg 3ot HUBHIS.
a. 80| 7S EFAS b, Q0] Ot T
1 2. 3. 4. 5. 6.
c. 71&20| = (XD d. AMZ2O| J|A
AT CI0fS Tat HIZHS MM,
4. O 2 2L US OfZ A | st 71ER0| Ei=
LA US AFSE 4 UBLICEL  [d] S8i5/ 8%/ 7INS / Zefelct /
(M) / CH2EMO|
c.2 e d. o X2(xe) 1. 0] 20| 22l= 02 HUS AIRSI0 AXISS Lop
= UELC, [casel
5. 92/= (2)@) 4 1f o T2 ARRsh o .
of s1Lict (] 2. 2= ™ N S29| EEE ZEBILILY, [involves]
% C
22 2ol 23t MS0|  0f2) ULIR?
a. &N ES b. MEXIED} 7|KIE
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[flamingos]

4. 24, 2= H2 X9l U= MSe 0l st 7IES
Heh = QS [benchmark]
5. 7|XI50| 2 HHS 0|21 U= MEL +E M= 12 A
9| E7tsEILICH [reporters]

6. J=2 1 X959 2= JH0jQ| ti2fXQl 45 LofEL

C. [approximate]

[ 2= 23hol| EAIGIMIL.
1. THo|M of2le| Eatof| st 7IAME ¢l0] BS ZLCh[a]
2. O|EH 220l|M -840t Of2|of Atk Lid|7t OIS 3HC
E RAE EQIS AL [a]
3. SIRE2 ofF Maks ALsHM £2 otd 4 Qs
ct. [a]
4. 752 AX| 0= 7150 £ Lopd £ UBLICt [b]
5. H2 H[R7| s Z Ho|Lt CHA JHe| &S Fofo sHe
I ZEHEML. [b]

=
1. 2 S 01F1 U= MLt L[| RAIE Mitk= 22 A

9| 27KsEiLCh [it]

2. Ol= gf2|™ FZ0I|Lt FY2 sh= ol HME Al8st= A

af A7 USLC [guess]
SEA Floll= AT 240k SHEE guess XY

3. 7[Rt 2SR A 52| 5 Lot &~ USTR?

[figure]

ZSA Fl0l SAF $E 8

4. 21 LM Hx| XIF0f s ZE MS2 ti2fE +5 A

AL [of]
5. WeIXS0| 28 X0l l X|of Rl W2 5 Loli=
W 0|2 Z2 WHeLICE [that]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS EE 2MBIMIS.
[Solution1] They choose a benchmark number
of birds in a small area and figure out the
approximate number of all the birds in the entire
area.

[Solution2] And guess how many times you

need to grab five beads to empty the jar.

[EA1] 2SiXILt 71Xk ofEA| B X0l QU= 2 EEE 0

RE MS2l 25 Zord 4 2ULUR?
[ZHI2] R2= ofEA 2 ol U= 7182 +5 & 4 UL
27

[oH”Z] 2A oM & O HE HiLICH D2|0 ol &
W7ER| R HOIL T JHe| &= {010k Sh=X| FEEILICL

[ gt chol2 HIZES i) 228 2o5IMIS.
estimation £ approximate ZAIX[2! beads
TEE grab S7ECH small 22, &2 entire Hx|
9|

SR 7|Xks O T2ES ARBSHA] St XIe| B2 MEQ
RS LOPHLICE OfF T2ko2t oLt kRIS ZARXIQ! Al
S UBILICE ol £ FEES Mo 2ZELICE 24, Hol
M & CHA JHE 7HELICE O Ok O e HIR7| i 2
£#O|L} CHA 7Ol &S F{0foF SHeX| £53H BAQ. J2{H
TE9| 25 Lot £ JUELICEL 0]2{8t WHoz 152 &2
X[Holl U= MEQ| 71E +8 Fotn T XG0 U= 2E

MS2| ZAX|2] £5 ofeiLct

41



l
if
J>

AT Als SES2 SFEE 22 71 HJUSUCE K27t AL ME JH =0l e S50

%*?Ji%l-lth O H2 BESS fI8t A1, U2 ES5S ffet H0E” T B20| Olx|of HA ERHELICL B35
It HHS2 (E5ES) O 7WI0IM 27| 2lol HCtLl=s 25 Boi2|of S2toF ST TJ2iLt 0fEA| 3071X| 4 4
USNR? ZE SES2 O2ISHell ol MZE MCIEAELICE “Z0f 5952 2F E3 Foj2lof 224K
HE S=50] AARELH ==522 25 #= 2UsUCh 20| 20l #ED oimsior &X| SXtELIC g3

StLtoll 2oLt B2 S=50(LH ET0| Bt} 252 74X OFRE SRELICE 12|10 SZA|= 302 02 M=X| of
S SREUCEL O24K & 02! SS50] HCRE LMK LUELICE "2 B Fo(oll 5F0| 22H M7I7HH 212
Hol2.” "THo2iL|" B it 20| A2 HRIELICE T Ho| 2= 8t ool 22H 044 7| E30| 30t 2
OFR Hol2.” of2l S=50] tiERtaUct S250| 23 o12| M 7S Z2AEUCE 230] o4 7Hel 23 Fof
2|E LiFE YHE 27(|= oFF #iRtgUCh =551 2o £8 SH37| flah Ml gol2l= E=55201, Ml Zoi2]

= YAUS0| 27 HJABLICL "BiLt, S, A, W, J2|0 o SES2 HFALZE S SRELICH o e &
goj2l= - &t Fof2|ofl CHA o2 - & 300t2(Q| S=S HRY SS3S Eaf mitELct

oo 1

EHO{aHA | 1. 22| Q= o SHot &f2|Xel 2. XIAfBICH : v, (=27tof) XIS 5L BEE sict 3.8 siCt v, of
E7t0ll MfsiCh 4.CH7I7iCt v, 7ol 2SIt 5,42 XI2C0t: v, ZX7| 2A2|E LT 6.22 [a. AU S
S8t 7.2BICHHESLCY : v, (HolLE 2E2) F2 CIE AlZSDH el 2lS0l %5 ofed B Laich 8. 81| : n. ZIA| &

a. AZXE 57| sl
b. =201 BHX|7| /H

Comprehension Checkup

7hY L2 EE maEMe, c. 2322 o 7joIM 27| el
1. 222 F2 20| #2t 2127? [b] d. ChE S253 LI sl
a. S250| 71t JE =

6. S=S0| 307IX| MI7| 2fell Hzfeh H HH2 FA0IALt

b. S2S0| 2K} 307HK] MIQIE e o "
c. E250| 22 90 1 YTE BHE 2 -
4 =m0 S2ES Lo A 0|oA a. 100[2|2| S2S0| U2 M Fofalof BLIC
SES01 558 =i E ol b. BE S2S2 3 ¢S Hoj2lo) Zopd 1 ol B2
2. O E250| 233S B3 7k A0 FUR?  [d] L,
a. E719 7 b. 74220/9} T2} c. 3012/o] Ext 30te] HHO0| CH B Hofzlo HL
c. HICIAIRIR} s d. 22Z0 @y ct.
d. S2E0| 22 Hof2| siioll CHA Dl2le] S2SS
== Ho| OF= H 70| H| ZIOEH
3. S250| 3020 LEP T JHo| YS0| URALIR? o) Sl S E0i2] ofA IS SoELICT
[d]
a. Bt 7f b. T H
o H A o, oA 74 Vocabulary Focus
[y=] {=3 = X Z4%
4. 71308 A= 200 ch ofolCiofE A2k Kue? (2] 2 EIOI0l SIS DI 20t A,
a. 02l 232 b. CHE B2 1.b 2.1 3.¢ 4c B.a 6.
: A'III__}-Eil | ) CHAF ‘=';|LT'_
o SeEd e EsE UBte ColE Zat wIziS LML
5. 2223 HAse HEiL= 2 Hof nict/ gRIKQI / 728, UafF
2/0fl S2jof FBLIC [c] ABHCt/ S53 / 252 2RIt
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A o st A3Hof2|ofl LeSLICH [fit]
2, gt g0l “‘ThAo et et Al ZRiELICE [velled]

o
3. A} slalxiol sfEMS Wl B 4 QIS SUEL

J
ol

ct. [reasonable]
4. 152 MH o I/ #&E 2xI7| ARELIC[chant]
5. 2 OtA 027t §F gofz| 2ol 223, I3 oA 2o

2|= 301t Z&LC [equall
6. 5t 02 E230| LS §F Jof2| ol == WHS U
Lot [instructed]

‘A= living 2 ¢

2. OIRE 307H| M= S SHELIC, [b]

3. S50 YUE2 "oils g5 o2l =20 Hsd
ct. [b]
ol FAE FHF= YEAZE 2A0f SI22 floating
2

4. "3 ot gojzlol S= CHX Of2)7t QEH MZI7HE 4
=70l [a]

5. DE S2E2 ofz|EH5 5t MRS MCHEUSLIC
[b]

o

(@]
ne

242 Tl

mju
Mk

2t ZHS Ao,

1. ZF0| Sofl i oImsHoF &X| SXELICL  [to do]
2. U2 ot Foj2|of oLt 2 S=S0ILt W0 Efof &
N2 7iX| OIRE ERHELICEL [how]
3. A27t A ME TN HASLICL [left]
4. oX 79l 2 Hojele - S Hofzjof CHY oM -
& 30012|9| S2S0| =UELICE [made]
5. 150| €2 03M Hoj2IE Livre WS B= A= 0
&L [easy]

Organize & Summary

[ 220N 2 HEE 0|2510] LIS ES 2AAGIMIS.
[Problem] But no one knew how many polar

bears or penguins could fit on one piece of ice

how to count to thirty.

[Solution] To make the numbers even between

the polar bears and the penguins, three pieces

were for the polar bears, and three were for the

penguins.

[HE|Y] S=50 2RS2 S=4S 22 7t HASLCL

[2H]] Xt2|7t 742 3071 &2 %LIEP et ot E=2Eoi2lof
% 0f2|e] S350 S0 YS2X| 12| ofE A 307K

MX| OFRE SFEELICE

[sHZ] &t ojZ ===0| " Ho| LS st Fo2jol 22H

&= oA Foj2l= 301 ZokE Aol et Y

=Tt Byel 5 $F7| 2leh Ml gojzlz 533301, Ml

Foj2l= S0l 2| =UELICL

2] 0l 152 23S waf utaLIc

et 5

(5] ore cof2 HIZHS A9 222 20%5th2.

left HAZI fit Q9iCt stepped SXICE CIECH
equaled S23ICt even SLSH #S$t sailed ol
ict

S UHS0| EF&S 2] 7t MUSLICL K27t 71
< 307K HRUAELICE B 2 Folz2lof Z of2|2 S=50 ¥
TS0| Y2X| 2|10 O{E7| 307IX| MX| OtRE SRS
o2l £=30] “CHd Ho| = & Foj2lof 22H A
(G %‘01EIE 30zt ZOFA HollR. "2t YFSLICEL 535

oo . 0'='

ror

=]

WSOl 27 =RAELCE OFE 252 %E.%*S 22 mxt
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" ReWieW TESUUNIT 01-04 - -

| = |
1.f 2.e 3.a 4.b 5.c 6.d
1.shades 2.habitats 3.essential 4.swirl 5.spread 6.opposite
1.b 2.c 3.d 4.c 5.a

1.that 2.that 3.to 4.whenever 5.parts

| x| 544 | a. A2 b. &, 712
2t Elojofl 222 oJulE 50} SR, c. BO| & . £
1. 719 1. KR 7] 52 B7le) 2 3. MEk xR0 HEA ot BASS S5 BYS
2. Hitf o, 2G| O AR EE A2 LT
3. WAl o, &2 20 43/ Utk 21008, 482 b EAEp
4. 85t - b. EEO| E7Lf CHES c. AES d. Fit=
. H ---- 20 [L| =g X|Ei5
5. Wl oo Aol SB0] 52 At W 4. 20| $3=IBt, 20| Mol M2 Moto] 2]
‘_I'L—Jl(— [:f
6. 4E5iC o, TIRE 27N 2BAPICH a. o b. &7
c. Mgt d. x|t
gre Hoig 32t HIzig AR,

TIAXIO| / MR M/ MAIX| / St 74nt=2 St |CH
mc2|ct / Bl / AS0|X|CH a. I}R0| A2 b. ECt
c. ZAl F£2 d. MAIX|
1. OfE TS Ciosst Ajxo| ZEMEILIC)
2. MSEE XS 217|9} AR0| AIKIILIC e ciols B4t SRS SEE
3. siEE T4 DjuiZe) 2R BRI SEe ETE ST mes Tee
4. ZR48t R0l ABSOITIA 42181 TIshE Yo 1+ OISt DRIl 2 s aEPt atin
ot 2. X172l 0| IS 3f5tT Q7| TRYULIC,
3. ZESL oIt LT3 22 07| U 2 9

5. Offff ZES2 0| & X =22 HOMHL[HEA =7t
FE Mgl

6. 7i20l= X179 0| EE EfYQ| HILHE
AU

off StELICt,
4. EH0|== 2HTM0| oiFEMS T oot

oot

ol

e el
032'_I

5. MoxE AF P2 YEHAIQl 2REYLC

otk Chofof| EAIG10] 2XLS 2AMGINL.

1. SE[AQI2 7H Z8stn O $I&st S SYLICt
a. C{7| b. 52|72
c. EH0|= d. &

2. 0IE2 OId| U1, LIRUS2 o= EoFLC
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Rewiew Test |vwrosoi

| = |
1.e 2.a 3.b 4.c 5.f 6.d
1.attract 2.shell 3.center 4.Astronauts 5.barrier 6.ash
1.d 2.a 3.b 4.a 5.c

1.very 2.The closer 3.faster 4.on 5.Butterflies’

| 25 344 | 2. Y2 AAZI} S LX| Fake 2 SAYLIC
2 clojoll 232 ojn|E 3ot AL, a &3 b. FALR
1. WZE 21 e 20 0| lze 22 . XfoJHS d. 2]
2. ®a e X2 S0 2Y 3. Xl7o) mY ofef Xlof2 BafE YHOR MY
3. SLiCt---- b. Sl= &SI QuALICt
4. FSHOI (@HAL) - . BUS 4 Qi . ~2| to] b. =2
5. CiEist . =R oLt ] ZI0IX] B . Zit7| d %2
A ---- ol L a8 ESHAE
6 WOl B e S2 Su Ae 4. 95 B2 B2V 9| th20 TBYERLICE
a 2B b. SIS
Yo ol Fat HIZkS ASMIR. . (BHANRY 4. 0%
QE5iCt / A / B/ 5. HIs2 ofuxPt 22 o] XIS &5 1f Yoy
ERPR VRSN Lict,
a. 2ot b. 2Et=
1. Ll B Df27} 2 LSS Relstn wiis o o
c. 250t d =2

=] 2 QALICh
2. Heli= oo 0| AE oM Hokz ALICE
3. EfYUZ EfAC] S0l U= ELIC
4. STHIHANSS HEE o ZO|

A2 TOIE St 2YS AYsHMIL.
72 2
—_

[SIELICE

ol
mun
=2
=
=2
-IO
40

F2 24 0j0j38

S

2. XTI O 77l HUAE a0 of W
gLH= Zi%{& 2olLch
3. 1Lt ofE SXI2 A3|EC O WEL|CH

5. sl MEVIS0| S5EC0H O & L= XS 2AM|

O
_ 4. Ho| 27|= ot} B2 YE ddst=Liol 2
. S AED TIAE =1 2 21
6 j;H b 7tAE 020 st=. P2k osLiCt

5. LHHISO| EIil= B8 CIE LiHISS R25H7| #lal

Ciiiz2 S ELct

1. L2 L= Ol =22 2] I3H 'ZE*EJ% OI%?J'—I
ct.
a Ba2rt b. HAC}
c. Ltert d. 222 =r}
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Rewiew Test vwrosi:

| |

1.b 2.a 3.c 4.f Bb.e 6.d

1.immense 2.valleys 3.military 4.stretch 5.unfair 6.treatment

1.b 2.b 3.d 4.b 5.c

1.tolead 2.energy 3.mourned 4.built 5.from

| 2xl 344 |

oo h N =

46

Z} Chojof| 22 o|n|E ot HASIM2
M- b. AHO[Lt MS0| HEXoZ U= A
AFR - a. 7R UL 28T R4 s
7cifet - -~ c. gfiet 2, of< ChHEtet

=7t - 1. ER Ko sl ctAR K= XY
ey - e. FEl5ln SEet 82

322 - d. ZH0|Lt ozfet FEMTEGIO]
A2 OIS St BIZS MM

=W7 S / BAMX|CE, O|oX|Ct / The /
7cet / 2o / Bt

OH|EM0| MRl= Hohst 8x{8 2oIctn Mztst
LIe?
2 M7 [Soll= i Cfeh ESut 0SS0
RELCt
1 271= LEEE ZOjoM ARRE 240U
122 1 FE EniM 2002 20|E{0]| ZX] o
UELICE
22| XAl 71t ARSI S3FaiLich

&

2 SAl= BRIE9| fgst 20| &olisLct,

ke Eojoll EAsH0] 232 2SI
Tl MY, HRE, TR TatojHa 22 A
20 MLt

a. st b. HAS

. FIY 0. ABB

2012 2 DE AR £ YAlo= o}

. 39 A2fFg2 ool

a. 39| b. SHERUCE

c. OFE|(&) d. 25sHr}

2 2US LXRE 71X 2 M7| S M=
SLct

a. HIIFH0|9] b. CHYSt

c. &% d. X|FE, XIYE

a. 84S b. ~0f| BtisHod
c. Atod d. X|7|ct, ZH|
olgtk

a2 ollX|2] St HHLCE

52 MAX2Z o= =[S
K|l ofiE ALt 2
gHYLC

13 022 GR2RE XIQZYRELICE



Re“’iew TeStWNlT 1316 - -

| &g
1.a 2.d 3.c 4.f B.e 6.b
1.wise 2.contributions 3.rights 4.originally 5.arrived 6.interfere
1.c 2.a 3.d 4.a 5.b

1.which 2.arrived 3.berecycled 4.where 5.to continue

| S8 3 | 2. (0| 0[2012 715 HiZO| O[RIKIE 27t
2t Clojoj| ot ojnj= o} ngwg_ 7F QUELICH
1. HiZ - a. AR ABIX © a. 0|2IX} b. ==
2. Bo - d.20IUR Y o B d 112
3. ZUSIC}----c. FE 2 AZIE WH HICZ EHA 3. 2= MEES A= AT SQEILCE
Lot a B b. HEtS
4. 3= 1 IjHE QIESHs #9 c. YA d. MR
A5 R _J.&;
5. AI3HLt---- . THAIE ASICt 4. YEo| HAISS U2 Elm £2 Mt o 543
E| L 7|7t
6. M7| b. 100E0[2t= 712¢ Lt
a. (~of) St b. Xt0|
ore CIOjE Zat HIZkS MSHR . ot} d. 231
H2| / AT/ Ry / BIEEt/ 7101 / Wttt 5. Q= R YIS Do AUH BHIIS0IUS
Lk,
1. MRS Z7| Q¥ S0l S Ul o ciLie -
2. M A A Q= e Srfolo| o O|HFR )
LI
3. 50152 150| H2|2 Yo LHYSLIC
olOte Cioj2 Za} BAHS LAISIMIS.
4. MEFZEAO| 22 0|22 HOIE LZ2IA0lN @ HRS ElOS 22t 238 2ol
_ 1. 0| 0|22 ‘SinterKlass'0ilM {Hst M LIZ2tA9|
BHgtict,
I YizizteAl oj2elLict
5. U= 9B ARISS A TS S| s ol _ _
Lt . LRE SAI0| AjRIS0| TASIASLIC
_ X x%ﬂa*olfxx S SOHHMIR.
6. 152 He} 150 2SI 2SHE S B I HESE & U THSE 0t

2

3

. *77 M2 AMA
Si5ix] oL : PHEIE M

O
=
- OS2 TOSS 7S ARSI A0 JsLICt

ke clojoll EAISH0] SRS 2SS,

g2
1. = 20| ‘Father Christmas’2lt £2/0 =
AN M= ‘Pere Noel 0|2t SEILICY,
a. Mg b. Helstu=
c. &2l= d. ZmQI
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Re“’iew TeStWNlT 17-20 - -

| |

1.b 2.c 3.d 4.a 5.e 6.f

1.flamingos 2.damage 3.comprehend 4.yelled 5.withered

6. ordeal
1.d 2.b 3.d 4.d 5.c

1.using 2.tobe 3.With 4.what 5.to count

2 514 |

Z} Chojofl 252 2i0|E Fot AZSHMIR

1. 284 - b. st=2t X772} 2Lt A 20| 20|
=

2. M ----c. 52 A d

3. 52l ---- d. G MEOIL 7HES #lliM Lstks
NE

4. A& ----a. 012 SAE7L 22 ZY

5. W{ESICH----e. OffH X YRZEO=Z HSISICY

m:hoon-n

48

. 22| K20 ---- f AP | 242|E WL

ABE2 THoIS St HIZES MM,

=
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